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PREFACE.

The main features of this Series of Arithmetics may be summed up
. as follows :

—

" r

1. Care has been taken to provide the greatest variety in the
problems. Clerks, mechanics, accountants, teachers, engi-
neers, etc., have been called upon to furnish illustrations;
tables of statistics have ueen consulted ; the facts of physics,'
chemistry, history and the like have been introduced, so that
the range of work is much greater than that of any other
series of texts.

2. C«eful attention has been given to the gradings of problems.
No problem is presented, unless at a previous stage the ele-
mentary processes involved in its solution have been mastered.

3. Much attention has been given to problems that can be solved
without pencil and paper. Tliese problems are used (I) to
introduce new principles

; (2) to develop the logical powers of
the pupUs

; (3) to give facility in working with numbera. It
18 only when pupils are forced to calculate without pencil and
paper, that they develop power to discover and apply short
processes.

4. Reviews have been placed at frequent intervals to test the
thoroughness of the knowledge and power of the pupils.

5. The book will be a time saver to the teacher who has been
accustomed to writing drill exercises and problems on the
board.

In using the book, it is important for teachers to remember that the
aims sought include (I) training pupils to i^rform the fundamental
operations with rapidity and accuracy; (2) developing the power of
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thought through the solution Of problems n^ n- .•power through the cai^fm re^S^^^ZouJ T:!^
'^' '''''^''^

accurate solution. * Problems, and their careful and

ml^^^tisTuS'ttn.^"^- ^*-^ -'^ -yst-
provided, the^shall beS^J J^L!" "l"^*'^ ^ *''« exercises he^
For it is pc^ible for a pu;S'to "^ prfiZt'^

^^ ^". *" *^« ««^-
to become slow and inaccurate later^ T.

•'°''''' «^^ '^^^

who knows the endings for pu^^I ^^J* " ^^«» P^^^le for a pupil
by ones at a later stage. WheT^L i ^ T^ subtraction, to add
of problems, the ener^ exZL T?*^*^ **"*' ^ *h« solution
to lining, it ^mZlZ^Zr^''^''l\^'''''^''^^^^^^o:^
possible in the semi-mecham °

o^ ^
'^ '.^^ ^ '^ '^ ^"^^^ ««

multiplication and div^.W
^"***°°' °^ '"^^^^""'^ subtn^ction,

«ll^;™r:m;^^^^^^^^^^^ ^ ^-P"« - the, make the
practical problem! All nJ^eS ^' ^""7 *" *'^ «^^"«- o^
the sum of 18 and 19 should llfK u! ^ '""^ " *^« »'« « 47, or
thinking out of these'^t^ltX;!^^^^^^^ ^«
such thought^ort is not to be Jnl .!? ? °'' ^*'""« P^^P^e- Yet
in the solution of complel pr^C^"^ Zf *'*' "'"''^ " P"t forth
with difficulty. ^ ^^^*"" ^^""^ *^« conditions are peix^eived

-^y^^^Lt^:t:r.^zt^^^^^^ -« - -« -^s
an opportunity for exact expZ^n^lZV" '"'^ ^t gives such
relations in arithmetic are a/Ste id T"^^"^ *'"'^- The
sion can be accui^te. It should Ta' rule in^u"^"^' '^' '''^^^
IS not solved when the answer is found tt s fi^^!^*' l"""'

' ^"^*-»
of «.ution has been set forth in suxt^bieI— l^'^"

*^« ^^''-^
and the power to compose are essential Tf^^ -.u

P^''^'' *** "^
out the former he can never ZJ^^tt '^\''."*^'»«tician. With-
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smile ofen«o.™g«B„t7direc«vel«H»!.^ *!"* .7"^'' '

zzT""'' - -- - -era ct:rj^;rr:
Teachers should not fail to take advantage nf !,. _. •

.- 'Ploy«i wlMoaew principle. .^betagint™iu.S!^ * ^
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Oral Review Bzerdses.

Add: 6 + 8 + 5 + 9 + 7 + 4 + 8 + 3 + 9 + 6 + 4 + 3
Add: 14 + 15; 21 + 18; 67+12; 32+17
Add: 38 + 22; 64 + 26; 37 + 23; 48 + 22
Add: 49 + 30; 27 + 33; 43 + 38; 52 + 39
Add: 54 + 41; 63 + 45; 48 + 43; 66 + 43
Add: 38 + 39; 46 + 58; 64 + 38; 58 + 42
From 100 take

: 17; 29; 36; 14; 46; 58- 72
From 100 take: 28; 36; 19; 38; 56; 43- 69
Subtract: 90-20; 94-23; 86-26; 57-18
Subtract: 82-33; 46-27; 62-38;' 58-29
Subtract: 91-64; 83-46; 54-36; 78-39
JJuJtipJy: 12x4; 15x4; 16x3; 18x4; 17x5.'' "

16x7; 15x7; 19x6.
17x9; 19x8; 14x9.
28x4; 28x6; 27x8.
24x3; 48x2; 28x3.

Multiply: 15x6; 18x6
Multiply: 18x8; 16x9
Multiply: 21x4; 26x3
Multiply: 36 x 2 ; 29 x 3
Divide: 84- 7; 39-13; 52-13; 64 1'l6796l'l6
Divide: 85- 5; 63- 3; 84- 4; 7.^ 6; 96- 4
Divide: 75- 6; 83- 6; 94- 8; 8l 7-' 93I 3*

Divide: 84-15; 96-18; 76-14; 83-19;' 68il5'
Divide: 97-12; 78-15; 81-18; 93-14; 74-19*
Divide: 82- 3; 69- 4; 71- 3; 96- 5; 99- 6*

Divide: 69- 4; 83- 6; 56-16; 87-13; 79-18
Divide: 59-14; 73-17; 84-19; 94-18; 99-19



GRADED ARITHMETIC.

1.

2.

3.

4.

5.

6.

7.

8.

80 ^ (16 - 12) - 8 + 14 - 18 X (26 - 8) = ?

27 + 34 + 16 + 13-^-(37-28)x(16 + 8)=?
3^ X 6 + 34 - 27 - 14 X 8 - 50 = ?

$8.30 - $4.80 + $0.75 - $1.25 - $2.60 = ?

$1.50 - $ .70 + $3.70 - $2.80 + $1.20 - $0.60= ?

(74 - 18 + 16;-^ (38 - 29) x (16 - 6) = ?

100 -45 + 135 -65 -55 + 245 = ?

From 200 take each of the following numbers • 45
65, 24, 36, 72, 58, 33, 79, 142, 181, 78, 15, 118, 67, 28!

9. At $1^ a yd., what will 8 yd. of cloth cost ? 12
yd.? 16 yd.? 20 yd.? 40 yd.?

10. How many days in the months of July, August,
and September ? How many weeks ?

11. How many pounds' of sugar at 6/ a pound can
I buy for 3 dozen eggs at 18 /^ a dozen ?

12. If 8 lb. of meat cost 44 /, one pound will cost /,
and 6 lb. will cost — <.

13. There are 24 sheets in a quire. In 4 quires there
are — sheets.

14. At 12/^ a gal., 2§ gal. of oil will cost — cents.
15. At the rate of 20 lb. for a dollar, 4 lb. will cost --

cents.

H>. At 3/ a pt., what will 2 gal. of milk cost?
17. John picked 3 qt. of berries, and James picked li

pk. How many quarts did both pick ?

18. At the rate of 2 apples for 3 /, how many apples
can you buy for 12 / ?

19. I buy 8i lb. of meat at 12 f^ a pound, and give in
payment a two -dollar bill. What change should I
receive ?



ORAL REVIEW EXERCISES. 3

1. At the rate of 3 apples for 2^, how much will 12
apples cost ?

a. If 3 bbl of flour cost $16, what wOl 2 bbl. cost ?

A ri .1^ ,

^'"^ ^"^ ^^"^ ^* *^« ^^t« of 20 ;^ an hour ?

.r«V f^*^^^^ ^*es from Montreal to Toronto
areSOc. for ten words, and 2c. for each additional word,how much would it cost to send this problem ?

qfi*^/
the cable rates from New York to Vienna are

36 /^ for each word, how much would it cost to send the

otoTl'srh'^^
"Jameson-Send four hundred

t WW ""?!! ^ '^'"''' °^ P^P^" ^««* ^^^ * ^ a sheet ?

i/a^eetV^ ^
'^*"' ""^ ^^P^' '''''* ^^ ^"^ ^ ^"^^«^ at

9 l^'lr^" l^'] / ^*' '^ "^ ^"^* ^^ 1^ ^ ^ g-"on ?
9. bmd the cost of 3 pecks of com at 60 / a bushel
10. How many gill cupfuls of milk in a gallon ?U. 80/ was paid for 4 qt. of berries. At the same

rate, what should be paid for half a bushel ^

12. Mr Brown's horse is 15 hands high. If a hand is
4 mches, how many feet high is the horse ?

m,^t ^Tu '^"'' ^.^^^ ^^ ^ "^""*^«' ^* that rate howmuch will he earn in a year? in a day, counting 25working days in the month ?
^

14. What will 4i lb. of meat cost at 16 / a pound ?
15. In a school of 48 pupils, one-fourth are boys.How many more girls than boys in the school ?

bush 1^
"""^^ ^ ^''' ^ ^^' ""^ ""^'^^ '^^^ ^t 60^ a



GRADED ARITHMETIC.

lii

1. In 53 pints, how many gallons, quarts, and pints ?

2. One-quaiter of a ton is how many pounds ?

3. How many posts one rod apart will it take to

extend a mile ?

4. At 2^ / a mile, how much will it cost to ride in the

cars to some city within 200 miles of where you live ?

5. At 12 / a pound, what will 4 lb. 4 oz. of cheese cost?

6. How many kegs of nails, each keg weighing 100

lb., will it take to weigh 2^ tons ?

7. A cargo of flour, weighing 2 tons, consists of how
many barrels, each barrel weighing 200 lbs. ?

8. At ^^ an ounce, what will be the postage on a

package weighing ^ oi a, pound ?

9. How much should I pay for 3 qt. of berries at the

rate of $1.20 a peck ?

10. What will 3500 lb. of coal cost at |6 a ton?

11. What will 3 bu. 2 qt. of grain cost at 16 / a peck ?

12. At the rate of 3 apples for 2 /, what will a dozen

apples cost ? How many apples can I buy for 10 cents ?

13. How many cows at $40 can be bought for $800 ?

14. How many inches in one-fourth of a yard ?

15. If a barrel of vinegar contains 31^ gal., what can

I sell it for at 10 ^ a quart ?

16. How many dozen eggs are 18 eggs ? 42 eggs ? 66

eggs?

17. What Vill 18 eggs cost at 20 ^ a dozen ?

18. What will 30 eggs cost at 30/ a dozen?

19. John finds there are 360 paces from his house to

the post office. If his paces are 2i ft. long, how many
feet is it ? How many yards ?



ORAL REVIEW EXERCISES.

1. How many square feet in the floor of a room 204
ft. long, 16 ft. wide?

2. How many square feet in a garden 20 yd. long and
20 ft. wide ?

3. What will 9 lb. of tea cost at 67^ a pound ?

4. 8 oranges cost 24/. At that rate what will 2*
doz. cost ? 4| doz. ?

5. 6 lb. of coffee cost $2.28. At that rate what wUl
21b. cost? 101b.? 81b.?

6. If my hens lay on an average 8 eggs a day from
June 20 to August 1, inclusive, and I use in that time 2
dozen, how many do I sell ? What do they sell for at
20/ a dozen?

7. In an orchard there are 18 rows and 12 trees in a
row. How many trees in the orchard ? If the trees are
20 ft. apart, and the rows begin and end on the border
line of the orchard, how long and wide is the lot of land ?
How many feet of fencing will it take to fence it on all
sides ?

8. A newsboy sells during one week 180 one-cent
papers, 148 two-cent papers, and 66 three-cent papers.
How many papers does he sell in all ? How much money
does he receive ? If he makes | / on each one-cent paper,
^Z on each two-cent paper, and 1/ on each three-cent
paper, what are his profits for the week ?

9. How many dozen eggs at 30/ a dozen, will pay
for 6 yards of cloth, at 15 / a yard ?

10. A farmer buys at the store 15 lb. of sugar at 8/ a
pound, and pays for it with 3 bu. of potatoes. How
much was allowed for the potatoes per bushel ?



GRADED ARITHMETIC.

1. A man bought 8 cows for |300, and sells them for

$45 apiece. How much did he gain ?

a. If I buy 6 dozen eggs for 80 /, how much must T

sell them for a dozen to gain 10 cents ?

3. 4 dozen apples are worth how many times as much
as 6 apples ? How many times as much as 1| doz. ?

4. If 6 bushels of oats are worth 4 bushels of com,
how many bushels of corn are worth 18 bushels of oats ?

6. At the rate of 15 miles in 5 hours, how many miles
would a man walk in 8 hours ? How long would it take
him to walk 12 miles ?

6. If I buy 13 lb. of butter at 32 /^ a pound, and give a
ten-dollar bill, how much change do I receive ?

7. I bought 12i lb. of
«
prunes at 18 ^ a pound, and a

bottle of olives for 35 cents. I gave the clerk a five-

dollar bill. What change did I receive ?

8. I bought 3 lb. of meat at 14 / a pound, and — gal.

of oil at — /a gallon, giving the storekeeper a five-

dollar bill. What change did I receive ?

Find the price of the following articles, and write
problems about them:

9. Buying molasses and sugar with $2.
10. Buying matches and salt with $1.
U.
12.

13.

14.

15.

16.

Buymg meat and potatoes with $5.

Buying coffee and tea with $2.

Buying chicken and steak with $5.

Buying fruit— two kinds— with $1.
Buying flour and coal with $10.

Buying cloth and shoes with $10.



ORAL RETIEW EXERCISES.

1. I bought 8 lb. of beer at 15/ a pound; gave a two-
dollar bill. What change ?

2. I bought 6 lb. of sugar at 7/ a pound, and 12
oianges at 2/ apiece; gave a dollar bill. What change?

3. I bought 8 lb. of rice @ 9X, and 3 lb. of butter @
30 /; gave a two-dollar bill. What change ?

4. At $6.40 a ton, what will J 000 lb. cost? 3 T. ?

500 lb. ? 8 cwt. ? 2500 lb. ?

5. How many 8-oz. packages can be made from 3i lb.

of nails? from 7 lb. 4 oz.?

6. How many yards of fence will It take to inclose a
lot 60 ft. long and 45 ft. wide?

7. How many square inches in the top of a desk.
2 ft. long, 9 in. wide?
a At 7 / a square foot, what will it cost to make a

floor 12 ft. long and 8i ft. wide?
9. What will 9 baskets of peaches cost at $1.42 a basket?
10. Make up problems about 2 lb. coffee @ 36/; 2 lb.

tea @ 65/; 12 lb. sugar @ 8/; 9 yd. cloth @'
12/;

molasses at 45/; 8 lb. fish at 9/; 3 lb. butter at 35 /j
for which you give a one, two, or five-dollar bill. State
amount of change received in each case.

11. 4 eggs cost 10 cents. What can you say about 20
cents ? about a dozen eggs ? about 5 dozen eggs ?

12. A boy can saw i a cord of wood in a day. What
can you say about 1 cord ? about 6 days ?

13. Make problems, using the following operations-
12x4; 16x9; 10.0-76; 80-5; 28 + 36; (6x8)4-
(9 X 12); 100 - 20; 18 X 6; 200 - 130: 100 - (6 x 12)-
84 + 38.

' ''



8 OSADED ARITHMETTO.

WUttMi Scvtofv

Add:

X. 2. 3. %,

$2.85 19.87 $127.04 $74.83
16.07 419.63 16.69 108.47
15.92 7.42 209.80 83.96

106.50 106.07 450.83 450.90
72.87 18.49 74.32 86.08

.93 9.96 1.96 78.07
80.68 8.54 .56 283.80
7.49 63.40 18.00 69.69

5. 6. 7. a
$48.06 14075.39. $748.65 $456.56
280.37 486.08 837.42 881.97
106.74 78.93 78.63 763.78
45.95 100.72 46.29 295.00
50.09 59.76 529.74 978.49

100.07 398.54 85.58 332.85

75.94 30.07 843.95 597.65
386.57 987.65 85.72 424.86
98.55 86.54 37.85 949.97

Add the following as they stand :

9. 8484, 8623, 7294, 7864, 5329, 2794, 3826.

2368, 489, 76,843, 4382, 786, 89,728.

$280.68, $784.29, $294.64, $387.28, $786.94.
$G60.48, $27.48, $384.08, $29.72, $864.35.

$838.64, $276.42, $69.07, $308.60, $72.39.

$96.38, $309.70, $29.20, $648.00, $809.06.

10.

11.

12.

13.

14.



WRITTEX REVIEW EXERCISES.

1. How liiuch more will 186 bbl. of flour cost at |6.40
a barrel than 1260 bu. of wheat at 75/ a bushel ?

a. Find the cost of 100,000 lb. of coal at $6.34 a ton.
3. A merchant's profits for a year were $6,428.40.

How mucli did he gain in 1 month? How much in 1
day, counting 26 trading days in a month ?

4. Counting 365 days in a year, how much would a
man spend for cigars in 6 years, if he smoked 6 five-cent
cigars every day ?

Find the cost of ^

6. 64 barrels of flour at $5.25 a barrel.
6. 68 bushels of wheat at $ .85 a bushel.
7. 34 tons of coal at $5.75 a ton.

a 1850 pounds of ice at 28/ a cwt.

9. 850 pounds of wheat at $1.12 a cwt.
10. 1 cwt. of ice at $4.80 a ton.

U- 800 pounds of ice at i / a pound.
12. 27 barrels of applet at $2.25 a barrel.
13. 850 pounJd of sugar at $6.40 a cwt.
14. How many bariels of oil at $5 a barrel will pay

for 860 lb. of sugar at 5^/ a pound ?

15. A farmer sells a merchant 86 bu. potatoes at $ .65,
164 lb. of butter at $ .32, and 212 doz. eggs at $ .22!
The merchant sells the farmer 12 lb. of tea at $ .66,

1^1^^- «f flour at $5.75, and 18 yd. of cloth at $.87.'
VVhicli person owes, and how much ?

16. If a horse eats 8 lb. of hay a day, how many
pounds will be needed for a year of 365 days? How
many tons and pounds ?
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,
^ ?or .""^"^ ^""^"^ ^^^* "^ * piece of land 186 ft.

long, 135 ft. wide ?

2. How many feet around a rectangular lot 8 yards
long, 4 rods wide?

3. How many square feet in a lot of land 200 ft. long
4 rods wide? How many square yards

?

4. What will 82 kegs of nails cost at the rate of 8i f^

a pound, each keg weighing 100 lb, ?

5. What will 18i doz. lemons cost at $2.50 a hundred ?
6. A man has in the morning $112.60 in his pocket-

book, and spends the following sums : $2.24, $6.38 •

$20.40, $17.34. What sum ought he to have at night ?
7. A merchant buys 84 reams of paper at $2.60 a

ream. He sells it at 1$/ a quire. What was the gain ?

Add the following ledger coluTr»riQ :

8.

$64.08

6.39

42.63

236.42

87.45

6.93

386.74

24.08

78.96

80.63

483.75

57.61

6.24

9.

$80.63

17.09

214.38

3.27

.65

43.16

6.95

124.39

68.36

329.74

76.85

8.52

7.35

10.

$7.27

15.87

634.38

7.69

.78

.49

68.37

9.86

106.74

83.27

97.78

39.43

8.18

U.
$127.50

28.09

464.56

7.65

75.83

359.77

28.90

682.18

3.09

96.35

91.24

5.34

6.79
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Find:

1- i of 68,640
2. ^ of 23,670
3. I of 23,670
4. I of 68,640

5- f of 70,600
6. f of 36,050
7. f of 36,050
8. f of 32,067

9. 2^ of 83,600
10. j\ of 70,452
11.

irV of 68,310
12.

ffV of 12,512

13. If a man saves $35 a month, how many years andmonths will It take him to save $2870 ?
-^ •>' ''"^

o
^1**

^^^Ift "^fx
"^'"^''^^^ ''"'°"« '^"^'^ workmen, giving

each man 65/^. How many workmen ?
^

cosf^'g^^ftw^' 1 ^oifee, each weighing 45 pounds,
cost $19o3, what is the cost of one pound ?

16. How many bushels of potatoes at 65/^ a bushel
will pay for 48 yd. of cloth at $1.30 a yard ?

KKi^fl
^

^"""^A*
^^^ ^^- "^ '"^^^ ^* 6^^ a pound, and 17

bbl. flour a $6.25 a barrel. I gave in payJnent wo one-
hundred-dollar bills. What change should! receive .
W^ 1 bought 18 pieces of cloth, each containing 42 ydat 16^ a yard

; paid for it in butter at 21/ f pound"How many pounds did I give ?

farlr^t ""^T^ "f
'"*'''^"* ^«"^^»* 684 bushels of wheat

for $590, and sold it at 96;^ ^ bushel. What was thegam? "'^

20. In a factory there are 62 men employed at gl 75

:r Tufa d
"^"

t
^''' ' '''' ^^^^'^- -i--are $142 a day. How much does it cost to keep thefactory going a month of 26 days ?

21 A barrel of vinegar containing 37 gallons was

thetlf
^'''' ^'' "^' '-'''' '"^^- ^"* --
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Ml ;

ti:;
Hi p;:i

1. A man had $148.60 in the bank, January 1, and
deposited $46.50 and $75.00 during the month. He
used checks as follows : $4.80, $15.60, $38.40, $74.20,
$13.40. What was the balance February 1 ? ^ >

2. How many yards of double line telephone wire will
it take to connect two places 5 miles apart ?

3. A car-load of oats (620 bushels) was bought for

$175 and sold for 37/^ a bushel. What was the profit?
4. The wheel of a bicycle measures 11 ft. in circum-

ference. How many times will it turn going 100 rods ?

In going 2 miles .

5. How long will it take you to count half a million,

if you count at the rate of 100 a minute ?

6. How many days, will it take a man to walk 1000
miles, if he walks 3 miles an hour, 6 hours a day ?

7. Find as nearly as you can by the scale or meri-
dians the distance across this country from Charlotte-
town, P.E.I., to Vancouver, B.C., and tell the number
of days it would take the man spoken of in the last

example to walk that distance.

8. Make and perform a problem about buying oats at
55 / a bushel, and selling them at 60 / a bushel.

9. Make and perform a problem about some distances
you have measured by pacing.

"Write and perform problems involving the following
operations :

10. (125 + 643 + 728)- 1229.

U. 45 X 16 + 38 X 19
;

12. 837 + 1044 4- 9

1000 - 84 X 9.

837 + 1044^9; 3000-486 + 539.

13. 5000 -(38 + 246 + 384); $586 -f- $25.



SECTION II.

Int^era almve BSillioiui.

1. In writing the number one hundred twenty-three,
what figure is put in the first or units' place ? What in
the tens' place ? What in the hundreds' place ? These
places are called orders, and all three orders together are
called the period of units. Name the orders and period
in the numbers

426 309 720

2. The fourth place or order is called ones of thou-
sands, the fifth order is called tens of thousands, the sixth
order is called hundreds of thousands, and all three of
these orders are called the period of thousands. Name
the periods and orders in the numbers

964,386 783,942 965,327

3. How many ones make a ten? How many tens
make a hundred ? How many hundreds make a thou-
sand ? How many of any order make one of the next
higher? How many hundreds of thousands make one
million ? Write one million. Write one hundred million.

4. The third period is called the millions period ; the
fourth period of three places is called billions ; the fifth

period, trillions. Name the periods and orders in :

1,234,667 84,748,963 486,394,729
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1. Read the following numbers :

PSRIOOS. / Third. Second.

y Millions. ThouaandB.

o
>

1 ~ »s ? »• •-± O O Coo
sis Sil
8 5 4, 6 3 7,

7 6, 1,

2 7, 4 7,

9, 2 9,

2 4, 2 1 3,

1 0, 1,

7 2, 2 4 6,

FIrat.

Unite.

. m

1 ^ "s

III
2 1 3.

2 8.

2 3 1.

15 6.

1.

10 0.

7 2 5.

PwiOM. / ''*'"' Second. Fiirt.

\ Millionii. ThouMuidg. Unite.

?
? ? I ^ ^

a S i
S ^ §

^
S £ SMho

£ "S S

1 I I
n ^ <§

7 2 5, 8 16, 5 2 5.

7 2, 1 4 6, 4 5.

6 2, 4 0, 7.

7 5 8, 2 1, 10 2.

2 0, 2 0, 2.

1, 1, 1 0.

7 1, 7 7, 7 0.

2. Point off and read the following numbers •

««nL. ^of
^ ^^^^^^ 869298106

6809743 20010 20001 210101 2100
8. Write the following :

a. Two thousand two hundred sixty-five. b. Seven
thousand, c. Six hundred thousand sixty-seven, d
One million one hundred and one. e. Seventy-five
thousand seven hundred seventy-five.

4 Add 4060, 20104, 70201, 5060. Write out each
number in words. Point off the sum and write out in
words.

6. From 6 times 80108 take 4 times 5050. Write
out the remainder in words.

6. Find the difference between one million, ten thou-
sand; and one hundred thousand, one hundred, twenty.
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1. Add four million thirty thousand four hundred six,
three hundred thousand seventy, eighty thousand four
hundred four, twenty-seven thousand forty.

2. Add 3,071,070, 600,748, 79,008, 360,078, 40,609 -

097, 3,069, 78,603.
»

, , , ^,

3. Add seven thousand sixty, eighty-nine thousand
four hundred nine, two million eighty thousand, nine
hundred forty, seven hundred seventy thousand sixty,
nmety-five thousand seventy-four, three hundred six
thousand four hundred nine.

6.

8,086,089

720,103

48,094

3,237

61,276

302,405

79,058

60,663

87,027

564,844

30,313

7,901

Find the sums of:

4. 5.

38,697 1,528

807,340 98,963

27,869 873,490
730,893 5,069,034

8,600,732 404,609
795,486 70,375

8,756 7,787
430 746

75,063 636,283
704,928 92,677

38,065 5,858

60,704 193

7. From one million three hundred thousand take
ninety-eight thousand nine.

8. From one billion one million one thousand one take
virt '•II* t^m^ A. J. 1 ^1ten million ten thousand ten.
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3 iTw. .^
^'^K^^y-iour thousand seven hundred siv

3.

8,076,431

-2,683,782

6.

243,074,692

9.

600,080,709

-_243^029^

12.

265 X 2 = ?

265 X 30 = ?

265 X 400 = ?

4.

78,060,004

ri006^008

7.

30,069,431

-_I2^678^

10.

57,000,370

jz50939

13.

386 X 6 = ?

386 X 70=?
386x400 = ?

265x432 = ? -3863^476^?

15.

4064 X 2 = ?

4064 X 40 = ?

4064 X 600 = ?

16.

8009 X 5 = ?

8009 X 20 = ?

8009x600 = ?
4064x642 = ? 800917625^

In the same way multiply:

18.684x374 21.750x408

i^'
^^0x486 22.397X390

20.974x369 23. 765x609

5.

37,940,383

-_3M39^
8.

63,870,000

19,030,069

11.

7,230,002

16^958^634

14.

437x 4 = ?

437 X 80= ?

j437x900= ?

437x984= ?

17.

7846 X 4 = ?

7846 X 00= ?

.7846x_300= ?

7846x304= ?

24. 865 X 780
25. 309x708
26. 508x690
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1. Multiply

2. Multiply

3. Multiply

4. Multiply

6. Multiply

6. Multiply

7. Multiply

a Multiply

47,084

890,608

3,690

8,070,896

379,605

80,976

809,769

34,086

by 207;

by 330;

by 2,694;

by 27;

by 608;

by 7,089;

by 723;

by 4,567;

by 386;

by 459;

by 3,078;

by 34;

by 3,007;

by 6,903;

by 684;

by 3,289;

by 460.

by 683.

by 6,008.

by 806.

by 9,000.

by 20,008.

by 985.

by 10,309.

9.

10.

U.
12.

13.

3,864 -r 21

4,065 -^ 32

7,506-^43

8,370 -^ 64

7,009-^-75

14. 8.3,704^-65

15. 70,963 -r- 83
16. 58,074-^-66

17. 30,976^48
18. 50,867 -=-59

19. 680,096-^72
20. 430,765-^68
21. 540,008 -^ 79
22. 378,096-^88
23. 568,374-^59

24. 800,000

25. 800,000

26. 800,000

27 600,000

28. 900,000

40 29. 720,900-r900 34. 580,760-^140
400 30. 836,000-^800 35.380,742-^180

4,000 31. 786,940-^400 36. 461,370^240
2,000 32. 270,963-^ 90 37. 307,065^360
3,000 33. 510,660^600 38. 508,690-^580

39. 3,860,945 -^ 604
40. 7,096,034^ 380
41. 9,654,378-^ 643
42. 8,046,850 -^ 782
43. 9,730,696 -H 378
44. 3,460,943 -^ 486
45. 1,097,068^ 308
46. 2,769,543 -f 8,307
47. 708,694-1-1,600

48. 806,097-^1,870

49.

50.

51.

52.

53.

54.

55.

56.

57
58.

586,038-

78,309-

210,694-

6,953,100-

7,486,094-

8.378,960-

7,839,527-

2,783,789-

9,860,372-

6,890,374-

-1,428

- 843

- 436

-8,372

-8,600

-5,960

-8,694

6,934

4,069

9,037
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Africa m 1892 was as follows : British Africa 2 S7n 09«
French Africa, 2,902,624; Portuguese7^^;,'^
Spa„«h Africa, 203,767; German Africa, 822 000

:

Italian Africa, 602,000; Congo State, 865,400 CKepublics, 162,640; Swazi Land, 6,370 Liberia 37 mSEgypt and Tripoli, 836,000; Gre^t Lak,X'/o : !„!

ofL'^H;K;L'r'aivc%rttr
$36,945,465; British Africa ^^19 a

.']^'"'
<lis«QQAi ^ x- 1 ;. ' <P»o,9i2; Australasia

S;!. W6 576 «^\'!^'^' *'^'«««-- BritiS;^uiana, {^46,676 Bntish West Indies })?qo7Sft;;
Newfoundland, $5^8,083; Hong Kong $ 0,lKh'

rJf R •.
^^^ ^""^ ""* S^'^' the imports from

O^IL
totals for Amencm Europe, Asia. Attca,

1„ ' ZZJ?' I'f^'-
*222,473; $1,527,810; $40,-

$loi9*Fi;Hth fyf'2«'--
*1.«08,682; $19.L';$4,009. Find the total exports for 1899. How mnch

rhTontlt^^"*^''""--'-'"''»^e-^-t

amouJ'ed Z^^Z !:Z^'\Z''::^ "^^ '" T
i*?*? -01 xj

^^"^'^y-'^'^"' an" the exports to $45-
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1. The exports of Canada to Great Britain and her
colonies in 1899 were $104,707,000, and her exports to
the rest of the world were $54,189,905. How much
more were the former than the latter ?

2. If the imports were in the two cases $39,925 635
and $122,838,673, find how much the latter exceeded
the former.

3. The public debt of Canada in 1868 was $96 896 -

666; in 1878 was $174,957,268; in 1888 was $284 513'-
841

;
in 1898 was $338,375,984. Find the increase fo'r

each decade.

4b The production of coal in Canada in 1898 Was
valued at $8,222,878; copper, $2,134,980; gold, $13

-

775,420; lead, $1,206,399; nickel, $1,820,838
; petro-

leum, $1,061,747; silver, $2,593,929. Find the total
value of these minerals.

6. In 1899 the productions of the same minerals
were: Coal, $9,992,086; copper, $2,655,319; f^old
$21,260,437; lead, $977,250 ; nickel, $2,067,840

; petro-
leum, $1,202,020; silver, $1,834,371. Find the total
production in 1899.

6. Find how much more was produced in 1899 than
in 1898.

7. Find the gain or loss in production in the case of
each mineral.

8. The tot.al mineral productions in Canada in 1898
amounted to $38,661,010, and in 1899 to $48,438,247.
Find the increase.
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1. The population of the towns and cities of Mani-
toba was 65,680, and the population of the countn'
districts was 134,212. Find the total population.

2. If the revenue of the British Empire in 1898 was
$1,277,728,762 and the expenditure was $1,295,310,783,
find the difference between the revenue and expenditure!

8. In the British army in India there are 74,288
officers and men who are Europeans, and 214,928
officers and men who make up the native army. Find
the whole strength of the army. If the whole number
of officers is 8,818, how many non-commissioned officers
and privates are there ?

4. How many periods of 15 minutes between noon
on the first of July and midnight on the eighteenth of
August ?

6. A gentleman earns $1,184 in a year and spends
$602.75. How many bushels of wheat at 48 cen a
bushel could he buy with his savings ?

6. If a boy earns $1.72 on Monday, $1.08 on Tues-
day, 65 cents on Wednesday, 75 cents on Thursday,
$1.15 on Friday and 93 cents on Saturday, and spends
$3.12, how many 10-cent pieces in his savings ?

7. A farm containing 160 acres is sown in wheat.
The yield is 30 bushels per acre, and the selling price
is 68 cents per bushel. Find the value in dollars.

8. A train runs 2J hours at the rate of 42 miles an
hour. How far behind it will another train be which
started half an hour later and was running at the rate
of 31 miles an hour ?
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J.» ^1^ f^^ ?^ ^*"*^ ^" * ^®'^'" ^»«t"ct are worth
{polJ, nnd the value of 75 acres.

^al'v^^V'^'^
"^"^ ^""^ ^^ ^^''^** "^ '""•'' ^'"^ n»«*'I' will

^96 buy ?

8. In a school there are 424 pupils divided equally
among 8 rooms. How many in each room ? How
many in 3 rooms ?

4. In a car there are 333 bushels of wheat Tlie
cost of hauling it a certain distance is 19c. per 100 lbsFmd the total cost.

6. A man ploughs 18 acres at a cost of ^1 25 per
acre. He sows it at a cost of j^2.15 per acre He
reaps at a cost of $1.06 per acre. The yield' is 18
bushels per acre. He sells at 62 cents a bushel. Find
his gam or loss.

6.

CODHTBT.

England.

Wales. . .

Scotland.

Ireland..

POPUbATIOH.

27,488,490

1,519,036

4,026,647

4,704,750

Asia.

61,000

7,378

30,000

31,759

COUKTRV.

Islands

Anuy & Navy
abroad .

.

Pon L,.TIO!l. A«»A.

147,842

224,211

(a) Find the totals above.
(h) Compare the population of England with each of

the others.

(c) Compare the area of England with each of the
others.

(d) If the population of Canada is 5,400,000 and its
area is 3,315,647, how much greater or less in
either case than that of Great Britain ?



orad£d arithmetic.

1.

!l

PtOTWCfc
NuMiMor
Pakua-
MMirT.

Ontario

Quebec
Nov* ScotU
New BruiMwick

.

Prince Edward
Island

92

66

20

14

Port'LATMR

MuitM.

22,Ue2

22,900

22,620

22,947

21,816

Paovnca.

Maiiitolw

British Columbia

North-West

Territories

(a) Fiml the population of each province.
(6) Find the total population of Canada.
(c) Compare the population of Ontario with the total

population of the other provinces.
{d) How many members in the Canadian Parlia-

ment? . i

(e) Find the population west of the Lake of the
Wootls.

2. If 18 workmen put up a building in 15 days, in
what tmie should 24 men have put it up ?

8. What number added to 17,828 will give a sum H
times as great ?

4. The earth's diameter is 7,925 miles. How many
hours would it take a locomotive to go arouml the earth
at the rate of 25 miles an hour, counting the distance
three times the diameter ? How many days, allowin-
2 hours a day for stops ?

«. Light travels about 195,000 miles a second. How
many miles does it travel in an hour ?

6. The velocity of sound is 1,090 ft. per second. How
many times greater is the velocity of light than that of
sound ?



1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

SECTION III.

HALVES, FOURTHS, AND EIGHTHS.

Oral and CUglit Exarciaas.

1 inch. 1 inch. 1 inch.

i inch. } \nrh \ Inch.
J inch, i inch

I inch + ^ inch =— inch.

H inches + ^ inch =— inches

1 inch - I inch =— inches.

3 inches — 14 inches =— inches.

2 times I inch = — inch. ^x2
l times ^ inch =— inches. ^ x 3 =

4 inches contain 2 inches — times.

1 inch contains ^ inch — times.

1^ inches contain I inch — times.

3 inches contain ^ inch — ' mes.

J
iucli.

n
1 - .V

3-H
= ?

= 9

4-r

1-f-

= ?

= ?

= ?

=z9

2 = ?
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1.

1 + 1
J

2^ + h

+1-OA-

3-1

H-n
181-4^
24| - 7\

iH+2^

18 -9|.

24—8^
S2^ +H
43^ + 7^

40-6^
37.} + 9|
54 -8i

4.

in + 9^

28|-9^
34 + 12^
3G-8^

47,1 + 7^
52^-6
54 -5i
69 + 7|

75i-6i

8.

21 + 9^

36-5.V

43-7f
51;V + 8^
62 -6|

75^ + 8^

70-71-

80^ + 11 J

86 + 12^

6. Express in other denominations, vV of a dozen ; J- of
a dollar

j ^ of a pound ; \ of a foot
; } of a gallon ';

J- of
a bushel; -^ of a peck; ^ of an hour; ^ of a century i
of a gross

; ^ of a yard.
^

'

7. Express in other denominations, |- of a yard • J- of
a week

; i-
of a year

; } of 3 dollars
; | of a ton

; \ of a
quire; ^ of a ream; ^ of a mile; J- of 3 shillings

; ^ of
a league

; | of a day.

8. What is ^ of the following numbers : 17? 29? 37?
41? 53? 69? 75? 83? 97? 111?

*

9. Express as whole or mixed numbers the following
fractions: |; |; |; 2^0. j i. ^, ^, ,,
8 9 . lift

* •^ ' 2 > 2 >

10. Add 3^ to each of the following : 4^ + 7 • 8 + 3' •

17-4^; 13^-5|-; lGi+5^; 7x6^-; 8x9i; 47-12t'
83^- + 9|; 91^-10^.

- ^' ^'

11- At 1|- cents apiece, what will the following articles
cost

:
5 apples ? a dozen eggs ? 9 oranges ? half a dozen

books ? 17 marbles ? 25 envelopes ?
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1. 2. 4

%1. 4.

^x2 9^x5 1-r2 H-i-^x4 7^x8 1-r2 2^-1
1x3 3^ X 12 1-r2 8|--f-i

ix7 5^x9 f-H 10^-1
1^x2 6ix7 f-

_ 1
2" 5J;k:8

*^ix4 7^x0 2-1.

;

7|rX3
iJxG 9^x4 4^-^ n^i
1^x7 6^x9 9^_ 1 2|^xll
2>xl2 7^x12 8-;-^ 6x7|^
8^x7 9^x11 11-^-i 3-^1^

5.

9x7^
19-12^
42^-11
68+ 17^

7xl3i
83i-12'
77i+ lH
84^-71
7x12^

100^-12^

6. 5^ pounds + 7^ pounds - 3^ pounds + 9^ pounds
— 11^ pounds are how many pounds?

7. John works a week at a dollar and a half a day,
and at the end of the week pays five dollars and a
half for his board. How many dollars has he left ?

a I buy 3 lb. of meat at 12^;^ a pound, and 2^ qt.
of milk at 6/ a quart. I give the clerk a dollar bill.

What change should I receive?
9. I buy 2^ doz. eggs for 40/ and sell them at the

rate of 1} / apiece. How many cents do I gain or lose ?
10. I bought 3 qt. of milk at 1|. / a pint, 6 apples at

^ of a cent apiece, 10 oranges at 1^ / apiece, 2^ lb. of
fish at 7 / a pound. How much did all cost ?

11. From 7|- X 6 I can make the following problem

;

What will 6 lb. of sugar cost at 7^- / a pound ? Make in
your own words, and perform problems from the follow-
ing: 8x12'; 8|-x7; 16|-f3^; 17-44; 7 X 3A:
m-7^-3^', 5^x7-3^.

'
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1- How many times ^ is 1 ? 2? 4? 7? 10 ? 14? Sn?
32 ? 42 ? 48 ?

• . 1" . 14 . JU i-

2. How many times i-
is U? 2i ? 4i- ? 8' ? 12i ?

16^? 26^-? 411? 60|? 6in ' ^ *^- ^- 12,?

3. ^ is contained in the following numbers how many
times: 8? 2^? 12? 12. ? 7^? 9^ 15^? 25^? 36^?

^

* oX \
""^"^^ ''P'^''^' ^""^ °^^°y oranges can I buy

for 8/? for 12>^? for 16/^? for 24/?

* ^Q^l I °^
,^n

''^"^ *P'^^^' ^"""^ "^^^y apples can I buy
for 8/? for 12/? for 16/? for 24/?

6. How many cupfuls of milk, each cup holding I of
a gill, will it take to fill a quart measure ?

7. At 3^ / a pint, how much will 2 gallons of milk
cost ? 3^ gallons ?

8. How many dozen marbles can I buy for 33 cents,
at ^ of a cent apiece?

9.

12+?
?+

Oi-

8x9|^

?-^

7x ?

19-f-l-

?-7^

= 17^
= 26

= ?

= ?

= 4

= 9

= 3^
= ?

= 14

20-12^=?

10.

18^+ 9^ =?
30-lU=?

27|^-f-i- "=?

5|x? =33
27|^-10J-=?
26|-+? " = 37
30-? =19|-

?-^ =14^
25^+ 111-=?

32JI-12 =?

U.
28-=- J- =?

2U-f-? =43
47--^ =?

45|--? =38
47^ + 9^ =?
50|--} =.?

7|xl2 =?
48-l2J.= ?

?-10j = 40

?+39 =50^

i^
Make up stories from any ten of the above problems.
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1. 2. a f

63|+? =70 30.V-3^ -^^ =? 40+lU+6|. =?
u

80-? =74^ 17-10iX6'=? 37^-9^ -8i =?
?x2 =59 8^x2 -6H? 12|.x4 -12^=?
7^x12 =? 3x9^ +2^=? 8x7il- -9f =? 1

90^-10^=? 19-61- +9^=? 14R^ -7^ =?
70^-9^ =?

18|--9 -^1- =?
4xl8^+6| =?

17^^ "-7^ =?

f?

91-? =84^ 7x9^ +8^=? 4^x12 -^^ =? i
21--3^ =? 15x2^ -7i=? 25|+12J--6i =? i18^x5 =? 17H1 -8i=? 10-71^ xl6 =? 1

Make up stories from any ten of the above problems.

4. When eggs are worth Uf^ apiece, what must I
pay for 2\ dozen?

5. What will 4^ gallons of molasses cost at the rate
of 10^/ a quart?

6. From 2^ lb. of cheese there was sold at one time
6^ oz., and at another time 9} oz. What is the remain-
der worth at 12^ a pound?'

7. I buy at the store 10 lb. of sugar at 7^/ a pound,
and 3^ gal. oil at 15/^ a gallon, and give in payment a
two-dollar bill. What change should I receive?

8. If 4 cents is one-half of all the money you have,
how much have you? (Show by drawing.)

9. The age of John is 6 years, which is one-half the
age of Robert. What is the age of Robert?

10. At 20/^ a peck, what will 6^ pecks of apples cost?
2^ bushels ?
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fl

^X4 =

Draw circles and cut disks showing:

1.

2.

3.

4.

5.

How many fourths in one ?

How many fourths in one-half ?

Two times one-fourth are how much ?

Three times one-fourth are how much ?

Three-fourths is now much larger than one-half ?
6. One-half is how much larger than one-fourth ?

7. Two times I are how many halves ? | x 2 = ?
8. Five times \ are how many ones ? |^ x 5 = ?
9. Three contains | how many times ? 3 -i- 1 = ?

10. In the fraction |, — shows the number of parts
mto which the unit is divided, and— shows the number of
parts taken. The denominator is —j the numerator is —.
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Fourths
1

Halves
1

Inches

3
1
J =?
4

•

3
i

2i-
3-^ =

1 inch 4- 1 inch =— inches. 1 + ^ = ?

I inch -\- 1 inch =— of an inch. | + ^ = ?

1 of an inch + i inch = — inches. | + J
=

1^ inches + | of an inch = — inches. 1»- +
If inches + | of an inch = — inches. If +

6. 1 inch — \ inch =— of an inch. 1 — | = ?

f of an inch — | an inch =— inch.

1^ inches — ^ inch = — inches. 1'

3 inches — | of an inch = — inches.

2^ inches — | of an inch =— inches

5 times ^ inch = — inches. ^ x 5 = ?

2 times \ inch =— inch. \ x2 = ^

6 times ^ inch = — inches. ^^ x 6 = ?

5 times \ inch = — inches, j x 5 = ?

2 times f of an inch = — inches. | x 2 = ?

3 times | of an inch = — inches.

7 times \ of an inch = — inches.

2 inches contain ^ inch — times.

3 inches contain { inch — times.

1:1^ inches contain { inch — times

1|^ inches contain | of an incli— times.

2| inches contain | of an inch— times.

3 inches contains | of an inch— times.

A of i inch is — inch. I oi I =^

I of 2 inches is — inch. ^ of 2 = ?

1.

2.

3.

4.

5.

7.

8.

9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

| = ?

f = ?

= ?

= ?

f X
1

T
2

3

3 = 1

X 7 = ?

-|=?

= 9
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GRADED arithmetic!

Find the value of:

1.

l + i

f + l

i + l

If + i

H + f

if + f
2| + |

2.

2i + 3

if + H
2f + l|

l| + lf

1|+2|
2i + 6|

3f + 2|

4i + 3f

'5f + 4|

3.

1 -I

H-i

i + i

l + i

H + i H + i

2^ + f

3^ + i

T 2

8.

li + If

1} + If

if-H
2i-U
3 -2|

H-n
^ - If

4i-

of n.p^'/V'^'*^'"'^'^"'^^"^*^""'' ^" '^^l^es and fourths

V; Y; y.
^ ^' ^' V; V; Vj V; V;

8. How many halves and fourth*, in +>,« t n •

numbers: U ly^ 2, 2^ 3/I? ^ 5^'
T

^^"^""^

81^4761^
'"""*'"'''•

'• 2^^ ^^^ 4i? 3|.

11. f of 8? 12? 16? 24? 20? 5? 9? 17. 9i. -.n,

number? 6? 5? {

H? I? If? 6|?
13. 4 is I of what n imber ? 8 ? 12 ?

'-i

IF 6^? 10^? 8^?
^

2}? 4i? 6i?

? 7? 2i? 3f?
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1.

|x2
|x2
f x2
|x3
|x3
1^x4
l|x4
4|x5
6^x6

6.

8-^

2-i

2.

ix4
ix3

li x2
Hx4
l|x2
Hx4
4x1^
8xli
6x2|
9x3|

3^x8

18i-^

4|-i
lOi-8^
9|-t-l|

6x8|

3.

iof 1

lof 3

iof2
iof 3

I of 8

I of 10

lof4^
iof6^

8.

4|x8
4^- + If
8-3|
6x7^

10^H
100 -12f
7x8^

101 -i
66| + 8|
100 -^i

4.

l-f4

1^2
^-2
3-^2
2-=-4

3-=-4

H-h2
2^2
4^-^2

6^-h2

9.

20-6^

3f + 4|
12-=-^

6ixl^
8x3f
7x2|

27^-H
H-n
6i + 8|.

31

5.

1-i

2-i
2-i
4-^

2^-i

3-i
4-i
10.

9x3|
4f x4
27 -9i

8x3^

17i-4f
2|x8
12x3|
8x4f

11. In I of a peck, how many quarts ?

12. In I of a bushel, how many peeks ?

13. Add ^ of a gallon to | of a quart. How many
pints ?

-^

14. From ^ of a peck take f of a quart. How many
quarts ? How many pints ?

15. f of a foot and ^ of a foot are how many incb'^s ?

i
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m
I

If'

Hoii^;XT^
'"'- i"^^' '^ >-- "-any peck, ?

maVhalUU^""'' ""'^ """^ '"'«-P«<='" ? Ho.

3.

4i + 3j= ?

? + 6^ = 10^
8 _ 2| = ?

10^-? =2^
?-3

3f x2
10^-^2

ix ?

2^ ?

= 6|
= ?

= ?

= 4

H-? =1

l^x ? =6
6-^ ? =12
2f+? =6

6 X If = ?

8i-2^=?
?+li« = 3^

H-^2 =?

8 X 3f = ?

10-? =7^
9| + 6.J = ?

12^-1 =?
6i + ? = 25

7| + 6|=?
5^ X 8 = ?

?x4 =2
2i + ? = lOi

?-6| = 13^

fW^- '! '^'' * P'^- °^ °^*« at a time, and eatsthree times a day, how many days will U peck" ,astHow many days wUl 4^ bushels last ?

^

7. What will a quart of milk cost if li « «*
9^nt,. (W aUtu« of tLrjui"""^^

""*

8. 1 pay 9 cents for li quarts of milk WKo* u ,j
I pay for 2 gallon, at the Le price?

'' '"'"""

yal" if * '"'' "' "'"* «'^'' '' -"»' -"''t -i" 2f

one tune 2^ pecks, and at another time 3i necks Hr.„many pecks remained ?
* ^^- ^"^
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1. How many eighths = one-half?
2. How many eighths = one-fourth?
3. Three-eighths from 1 = what?

4.

5.

6.

7.

8.

9.

10.

11.

12.

13.

14.

15.

17.

18

19

20.

21.

Find the value of:

+ i = ?l + l + l

1-| = ?

^ + 1

1-| = ? 1-| = ?

2 times | = how many fourths?
4 times | = how many halves?
2 times | = how many halves?
2 times | = how many fourths?

I + i ? I + i = ? I + 1 = ?

li IS ? larger than 1| ?

What is ^ of j ? J- or I ? i of

= ?

1 ?
2-

-

16. I IS contained in } how many times?"
i is contained in |- how many times?

I is contained in f how many times?
I is contained in 1^ how many timer,?

4^^ = ? 2-^ = ? 3-1 = ?

2-^i = ? iH-| = ? li-^| = ?
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»1
Hi

Eighthi

Poortha

Halves

Inches

1 T 1 1 rTTT
_ 1

'

1 1

11 J

1

i

1. In 1 inch how many fourths ? how many eighths ?
2. In ^ inch how many fourths ? how many eighths?
3. In j inch how many eighths ?

4. In 1^ inches how many fourths ? how many eighths ?
6. In 1^ inches how many eighths?
6. iin. + |in. = ? jin. + |in. = ? ^in.+ <in. = ?
7. |m. + |in. = ? ^-in. + |in.=? iin. + fii:. = ?
8. 2 times

| m. = how many fourths of an incli ?
9. 4 times | in. = how many halves of an inch ?

10. 2 times | in. = how many fourths of an inch ?
11. 2 times f in. = ? 4 times | in. = ?

12. iofi=? ^of|=? iof^ = ?

13. I in. is contained in ^ in. how njany times ?
14. I in. is contained in :^ in. liow many times ?

i in. is contained in | in. how many times ?

I in. is contained in | in. how many times ?

iof|in. = ? |of^in. = ? ^of|in. = ?

|of2in. = ? iofljin. = ? fofHin. = ?

15

16

17.

18.

19.

1-1
1-1
HI

20.

l + f

l + f

n+f
H-l

f + l H-l

21. 22.

l| + f 5|-F|
if-i H+n
2-1 H~n
i + l 2^-1
+i H-l

23.

7i - 1-

lf + 5f

12| + 9|

7|-3|
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2 ^f^P;",^7J°^f''*«""«^ I; f; I; if; |; 3|; 2f; 41.

ei/hths o iTT .^''"''"f
«- - halves, fourths, andeighths of^the^f^^^

J. ^. ^. ..
j^^ ^^^

3. Express in whole or mixed numbers and reduce toWest terms the following: |; i^. »i. .0. .3 \f

i,t' Jfr.""*"^
^'^h*h^ ^" *he following: A? |? 2?

H? 3|? 4|? 6f? 1|? 7i? 3p * *' *

Bhows^ wTat""^ Tf" ^' ^'' *' '^- The denommatorsnows what ? The numerator shows what ?

Hi

3^+1
4^ + i

6t-f|

u.
ix2
|x4
fx8
lix6
7^x4
8|x4
1^x6
If xl2

7.

2^-^
5i-|
l + l|

H + 1^

3i-H
2^-1
12^~lj

12.

2x2^
4x61
12x7i
16xl|
8x2|
6x4}
24xl|
12x3|

8.

2i-|
3^-f
^~i
lf + l|

li + l|

l|-li

3-lf

13.

iof 2

I of 12

iof4

I of 8

I of 16

I of 40

I of 40

f of 48

9.

H-^H
H +H
m-H
n + 3f

H~H
H~H
5f-2}
llf-2|

14.

|ofi
^ofi
iof^
ioff .

fofi
ioll^
ioflj
} of 1j

10.

13i + 6}

H-H
6}-2|

12f + 3f

6f + 7}

7^-31
6i + 3f
81-7^

IS.

iof 3

i of 3A

i of 3}

I of 3

I of 5

i of 3}

fofli
f of2J



S6 GRADED ARITHMETIC.

1.

3--4

. 6-^8

7-^8

5-f-8

i-2

4i^4

6.

1-i
2-i
4-i
8-f-i

8-J

a.

2i^2
4i-r4

6J-2
6i-T-4

i-2
2j-^2

H-^2
H-T-4
2^4
3^-^4

7.

3-f-i

2-i

2^-i

2^-i

a
6j-^2

6J-^2
6i-r4

7i-r4
2^^2
4|-^2

3i-f2
6j-f-2

7i-r2

9i-r4

a

2i^i

4.

7^4-4

lli^4
3i-T-2

7i-^2
I3J -2

161-r-4

17i--4
^8^-7-2

15j-^2

2H--4

9.

6^-i

H^i

8.

l|-f-2

3i-f-4

1^4

7J-4
29^ -r 4

17^-2
22{^2
2U-^4
271-4

10.

14|-^

12|-i

12f-i
2|^i

.

U. From a barrel of vinegar containing 38 gallons
there was sold 26f gallons. What is the value of the
remamder at 24 cents a gallon ?

12. John start. 1 from a certain place and walked due
north ^ miles, and James walked south from the same
place 4f miles. How far apart were the places where
their walks ended ?
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3 quarts? 2

3 quarts? 1

1. A man had 1} acres of land and he bought 2| acres
more. How many acres had he then ?

2. What pa ', of a peck is 1 quart?
quarts? 6 quarts? 7 quarts?

3. What part of a gallon is 2 quarts?
pint? 3 pints? 2 quarts and a pint?

4. James has 48 cents and his brother John has | as
much. James has how many cents more than John ?

5. From a lot of land containing f of an acre, | of an
acre was sold. How much land was left ?

6. At $1 a bushel, what do I pay for 14 bushels of
potatoes ?

7. At
:J

of a dollar a bushel, how many bushels of
apples can I buy for $4? for $12?

8. At 37^/ a gallon, how much will a barrel of
molasses cost, the barrel containing 34 gal.?

9. 3 apples are ^ of how many apples?
drawing.)

10. 6 books are | of how many books? (Show by
drawing.)

11. Gave 2/ for a pencil, which is ^- of what I gave
for an orange. What was the cost of the orange?

12. If
I-
of a yard of cloth costs 20/, what will 2 vd

cost ? 3^ yd. ? 4} yd. ?

13. If I of a pound of tea costs 30/, what is the cost
of I lb.? of 1 lb.? of 2^ lb.?

14. If I of a bushel of apples costs 60/, what is the
cost of 1 bushel ? of 2| bushels ?

15. If I of a barrel of flour costs |6, what will | of a
barrel cost at the same rate?

(Show by
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H

3 H I tlT"';:?*',*"' ^» ''"• °f potatoes cost?

I Jy" ot ^t ;ir' '»'*'*'''» •'o"-' ->«* "hould

» A market-man sold | „f i,u p^„^ . .

mu^h iL;;
*" «""'*^'

* "' ^« <" of «2, and how

7. Which is the greater. 4 of 19 n*. i «* i« ,

much greater ?
* "^ * ^^ ^^» *"*^ ^o^

8. What is the difference between ^ of ^ and | of 1 ?9. From a piece of cloth measurL 60i vd f hwe..
t

a patters oMa,,d. each. ^HrifJS

"• If It takes i of a yard of cloth to make an anton

"• m df lb. how many ounces?

many ouneefdVlI^t/rav^r""^ ^ '"'^^- ""^

cos??
4f y.U

"' "°* "''' ""' '""" ""* "'" ' y'-

J^ r
P*-'' ® """"^ 'or i qnart of berries. How muchmust I pay for a peck at the same rate ?
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Written Exercises.

2.

81| + 46^

35f + 27i
86]^ - 43f

47i + lOJ

63| + 16J

44|+ 86|

74i-18|

20fxl2^

116i-66|

40xl6|

80|-29f
76^ X 12|
180 -^^

80-71f
86i-43i
37i X 14

56| 4-481

80f-^^

6.

600^1
37^ X 14|

200^ -36|

45f X 20

7| X 100

10

124| + 27|

89^ + 171

63| X IJ

186x141
68-^{

3.

1204-71

15^ X 12|

481 + 1271

108^^1
36^ X 27J

7.

34i-17i
27|+ 68|

125|-66|

17ix2oJ
6| X 200^

U.

100| - 69f
37| + 28|

36|-20^
71 X 1000

63^ X 27

13f X 16^

128^-651

160K18f
114f-^-i
148|-29|

80|-19|
69^-171
15^ X 16J

80.V-^i

27K18f

12.

87-591

23f X 16

-M3f
36i-^

13. A grocer sold 118f lb. of sugar to one customer,

206J lb. to another, and 130.] lb. to another. How
many pounds did he sell to the three customers?

14. I paid $284| for a quantity of wheat, and sold
it at a profit of $18^. What did I sell it for?

15. A man had 24|^ acres of land which he divided
into building lots, each containing | of an acre. How
many building lots did he have?

11

: '5

:j



40

1*1

I

GRAD^ ARITHMETIC.

1. HowHow many books at $i apiece can I buy for *20i1>Bought 20^ acres of land at *SOi 1 * N
paid for it in wheat af i T 7,, ^ " ^^' ^"<^

rno u 1. , /
^* ^ of a dollar a bushel Hnwmany bushels of wheat did it take to pay for the land^

dn ne walk m 8 hours at the same rate^
5. A horse traveled 24^ miles in 4 hours' WV,..

his average time per mile?
" * ^«"«- What waa

6. If a train moves # of a mJlp ;« „ ^' .

it. rate per hour? Hott wH t^in VThot:* !the same rate ?
** ^ "'""' "t

V. If 4 tons of coal cost «25^, what will 42 tons cost o

.nS l*"*
"''"^ '^ """^^ ^^"^ «»«» >« much Tanapple how „a„y y^^s as much as the appTe are Jhtogether worth? Suppose both together a« wortt^ 8cents, what is the apple worth ' ^ *

i» wortYthrirr;rrth!r- •

" \"'-'
each worth ?

^ carnage, what is

What is the cost of
What is the cost of

". 86J lb. cheese @ 8 . , J^'
4'/,'- ^'"™' ® «/«?

13. 64J lb. butter ©421/' W fifcwr'*^ f.^*^'
14. 406Jb„.potatoes®621/?^' sl » ff^l'-IK iQ8>r 1

"^''_^^"'^2^'^
'
«0- of acres land (^ *140?1* 18| T coal @ I..37J? 21. 12| bbl. apples® t2?o?



SECTION ir.

Oral and Sight Exercises to Twelfths.

1.

2.

3.

4.

5.

6.

In one circle there are — thirds.

In one circ]- there are — sixths.

In one-third of a circle there are — sixths.
In two-thirds of a circle there are — sixths.
In one-half of a circle there are — sixths.
Two-thirds less one-sixth equal .

7.

8.

9.

10.

U.
12.

j3.

14.

15.

16.

17.

1 _l_ 1 9

^ .
- i of | = ? ^ of ^= ?

2 times
J
= how many thirds?

4 times i = how many thirds ?

2 times f = how many thirds?

I is contained in | how many times?

J is contained in | how many times?

1-| = ?

h of ^ = ?
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:Pi!

SixUu

Thirds
'JZ-L —

1

1

—

p:[
11

—1

—

Inches

•

1- In 1 inch there are how many thirds of an inrh ?How many sixths of an inch ?

3 How ™""''''*'!r.'"^
•••"" "'^''y ^^^ °f «» inch ?3. How many sixths m one-third ? in two-thirds?

4. How many inches m 8 thirds of an inch?

sixths^oTaT^^j*" " ' ^'^'"^ <" - -"? " "

by m^:::?;"
' "'* "' "" »"•' -»" ^ -'"s of an inch

I ttt^^'^l ^f!''+»"=? liin.+ljin.=?
8. ||n.+ Jm.= |m. + ii„.= ? ljin.+ lii„.= ?
9.

10.

|in.+ ¥ in

12. Hin.-|in. = ? liin.-^in.= ? Lin ^4^0 ~?
13. Iiin.x2= ? |in.x3= ?'

tin.x2= r-
^'°-^

14. fin.x6= ? |in.x3= ? I|in.x2= ?
15. } in. is contained in i in. how many times ?
16. f m. IS contained in 2f in. how many times ?
17. f m IS contained in If in. how many times?
18. ioffin. = ? ^oftin. = ? ^ of ^ in. = ^
19. Express m other denominations ; 4 of a foot • 4 ofayard; iof agallon; ^ of a bushel

; ^ of a peck
'; f of

foot; iofadozen; f of a foot
; | of a foot.



EXERCISES TO TWELFTHS.

1.

2 + f

a.

i + ii

U + 3

1| + ^

2| + 2f

H+H
9f +

18f +

9,

-1

4.

3f + lf

8-3|

161 + 8f
20-

4S

&
20-8^
8^ + 14|

9i + 8j

2H-16i
101 +

6* -If
18 -4|
7f + 3|
20 -3|
in+8|
26j-9f

6. Express in whole or mixed nu.nbers the followine
fractions : f ; ^; |; |; |. |. ^^. ^,. ^^. ^4

»

7. How many sixths in 1 ? in J? in ^ ? in f ?
8. How many halves or thirds In f ? in |? in p in |?
9. Give fractional combinations in halves, thirds, and

sivths of the following numbers : l(l =
i-+ J

= | + A+ l
^ .' 2" > i > f > I ; 1^.

10.

i + i

f + l

f + f

H + l

1| + J

11.

if-i
2-1
3-f

2^ + 1

12.

i + k

13.

f-f
f + i

2-f
* + l D l^-i

14.

1^ + i

H-f
2^ + i

2i-i
3i-i
3J-i

^+^
8*-3f



44

1.

6

2.

ix6 ix6
ix3 Hx3
fx2 Hx4
Jx3 lfx2
fx6 Hxl2
Hx4 Hx9
2|x5 2^x7
2| X 3 Ifxo
2ix6 fx8
l|x8 2|x4

GRADto ARITHMETIC.

3.

iof6
Jof 1

iof2

iof4

iof2
*of2^

4.

l-r6

f-2
li^2
H-^3
4-^6

4|^-^6

H-i-2
2|-^3

U-T-2

&

2*^1

7. How many ninths in one-third ?

fonHh?''-'^"'^"^.*?^^*^'^^""-
i" ^'^^-half? in one-lourth? m one-sixth?

10- 1 + 1 = ?

13. f-^= ?

14. ii-f = ?

Ki + i= ? f + ^ = ?
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Twelfth*
1 1 1 1 II II "TTm

Sixths 1

1

Ninths
1 1 1 1

1

1

1

Thirds

1 , ,

Inches

1. How many ninths in ^ in.? in f in.? in 1^ in.?
2. How many twelfths in ^ in.? in | in.? in | in.?
3. How many sixths in j\ in.? in ^Sj in.?
4. How many thirds in f in.? in ^% in.?

iin. + iin. = ? ^in. + 3Vin. = ? 4

8. l^m.-|in. = ? ljin._|in. = ? fin.-^in. = ?
9. |in.-3Vin. = ? iJin.-|in. = ? ^f in.-f in.= ?

10. iin..x3= ? |in. x2 = ? | in. x 3 = ?

11. If in. X 3 = ? j in. X 2 = ? | in. x 4 = ?
12. What is ^ of 2 in.? } of 1^ in.? | of ^ in.?
13. How many times is ^ in. contained in 2 in.?
14. How many times is f in. contained in f in.?
15. How many times is j\ in. contained in ^ in.?
16. How many times is ^j in. contained in | in.?

17. |-1 = ? i-f = ?

18. ix3 = ? ix6^?
19. iVx3 = ? ^x4 = ?

20. K2= ? i^3 = ?

21. i-i= ? i-l = ?

iVx2 = ?

iVx6 = ?

i-^4 = ?



46 GRADED ARITHMETIC.

1.

iV + iV
iV + iV

A + tV

A + iiV

1A + iiV

i +A
H +A
IJ + A
lA + If

6.

4^x4
1^x2

1^x8
Hx^
3x2^
Hx2
HxS
If x2

11.

4-r-l^

8|x4
161-12J
18-'

9.

1-A
4~A
J-A
i - iV

l-A
i +A
A-i

7.

2^x4
2^x4
3|x2
4^x3

2^x8
If x4
6|x2
12x2^

12.

3|x6
14| + 12^

1H-8J
4^2^
16^x8
4fxl0

3.

i+i

If-f
l| + i

H-f
8.

4x4f
2^x6
7xl|.

3^x4f
6x4^
7^x2
3^x3
8f x6
4^x4

13.

16-1^

2n-3f
8x7j

3|xl0
141+ 41.

21f-14|
3|xl4

15i-12| I4i-3i 3^^

4.

tVx12
Ax6
Ax4
A X 12

21^^ X 12

11x12
If xl2
2f xl2
l|x6

9.

l-rl2

i-2
*-3
i-4

lJ-f-3

2^^4

14.

f of2^

fof3^
fof 15

ix3f
6-f
6-f
8-1

&
Aof4
A of 4

iV of 3

iof J
^ofj
^oflj
lofj
iofH

10.

1-A
4-A
io-,v

1|^4

15.

3f^J
8f-t
4^-l|

6^-3f
3Jxl4
18x.3f

2i 16 X 2i



EXERCISES TO TWELFTHS. *7

1. If a man walks 2f miles an hour, how far will ha
walk in 2 hours ? in 6 hours ?

2. At 6j dollars a coi-d, what will ^ of a cord of wood
cost ? I of a cord ?

3. At $^ a yard, how many yards of cloth can I buy
for |8^ ? for $14^ ?

^

4. At $1 a yard, how many yards of cloth can I buy
for $12 ? for $6§ ? for $9^ ?

"^

5. At $1 a bushel, how many bushels of com can I buy
for|7i? for|4^? for $9?

^

6. How many quarts of berries are picked by 6 boys
if each boy picks 3f quarts ?

7. William is 3tV years older than John, and John is

4J years older than James who is 12f years old. How
old is John ? How old is William ?

8. Josephine studies every day j\ of an hour, and
practices | of an hour. How many hours does she
study and practice in a week?

9. f of the days in June are how many days ?
10. I of the days in July is how many days and

hours?

U. I bought at one time 6| lb. of meat, and at another
time 4| lb. What did it all cost at 10/? a pound ?

12. What will f of a pound of tea cost at 70/ a pound?
13. From a board 8| ft. long a piece 3^^ ft. long was

sawed. What was the length of the remaining part?
14. A man had 16^ dollars. He spent 3| dollars at

one time and 4| dollars at another time. How much
money had he left?

15. 2| yd. + 3f yd. + | yd. are how many feet ?



« OHAdED ABITBMETIO.

»• How many tenths in I in.? in j i„ ? ;.,=„,
a. How many fifth, in U in.? „ A^n ? • * .

'

* }m.+*in.= ? ii„.Vlin -t _; •
" '^'.'"•

- iin.4i».=? tHilZ i^l^:

9- A in X 2 - ? J
;«• X

1^
- ? A m. X 2 ^

10. ^
U. 2 contains I in. how
12. 1| in. contains
13- 2| in. contains

tV X 3 = ? Ax 5 =
many times ? 2 ~ | = ?

A in. how many times ? U-^ i

=?

:?

:?

?

?

16.

i + i

21 + 1
2|-|
3| + |

H'i

i of f in. = ?

17.

ix2
ix4
f x2
|x4
f x2
|x3

1^x6

18.

iof|
1-^2

l|-^2

2|-r3
2|-2

19.

I of 2

iof4
I of 80

I of 35

I of 12

12 X If
18 X I

20.

H +H
20 ~C^
6^x3
4x2|

6^x8
17i -4|



EXEBCISES TO TWELFTHS.
49

4-*
4-J
8-1

12-f-l

3-1
9-1
12-1

5.

8K4xV
3|xl6

14^ X 3f
4|x21

16-f
|ofl5j

I of 43

8.

9-,V
10-^
10-1
21-1

6.

10^~4f

Wx8
12f-8f
fofSO

8|xl2
15^ + 12tV
12|x8

a

7.

12fx6
4x7t'V

14-6Ji
iVx21

14| + 12^

|ofl6i
14| + 18f
15i-4|

16VV- ^"1

91

1-10

i-2
iV+tV

1-tV

iiV-A

10.

tVx2
A^2
iV-4

2i+8f

11.

18ax2
iofl8^ lliV-6|
fofl2^ 8i-^

12.

8I-7A
|ofl2^

xVofie

8KtV
3fxl6
18x4^

6^2?
16* +4^
18i-6f
12-f
16i-3f
16^x8
3^x16
I of 18^
|of31

a
38,V-16i
25-1
16^X4

34I + 16J
100 -64f
27^x3
60x2^

17f-3
15f + 6f

13.

15x8f
16AX8
4^x21

18iV-16i

12f^A
17jx9



50 GRADED ARITHMETIC.

1. Reduce G to lowest terms.
2. Reduce ^to whole or mixed numbers.A^B B+F A~B I-F Axl

A-C J-A
n-E J-B
D~F J-c
H~A J-B
H~B J-K
H~G K-A
I-B K~D

12. Reduce to ounces ^ lb. ; C; A; F- Gj- K
13. Reduce to inches i5 ft. ; C; A; D- G T- Tc'
14. What will A lb. of meat cost^L^^^'
w- At i / an ounce, what willV oz. of — cost ?

3.

* ^ + C B^-J
6. A^-B B+K
^' A +E n+c
7. A+J B+E
a A+K B+E
9. B-\.C B+F

10. B +B B+J
U- B +E B+K

Bxl
Cxi
Bxl
ExI
CxL
DxL
FxL
GxL

I-rC
I~B
I~A
I~E
I~B
L~C
L-rB
L~A
L-G



EXEBClSKg TO TWELFTHS.
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Onlud "tttttB Bwreta^

i H^ """^ ™"'* '" 'J' *i? W? $1? IF «S?

A? M ""' cents in U^ jj, ,,, ^^, ^^,
• How many cents in $}? |>? »,, g,, , ,eHow many cents in »^ *Xi> 4jl/ »*/

^^n letn frj;; ^^,783^;;
''''''''' ''^'^

I M i?f/ * ^'''
r*""

"'" ^ y^- »* «'»"• cost?

cost? * * * '''''•' "'"' """ 30 bbl. of apples

** Show by lines or circles that :

*<'fl=iof2; iotl = io{3; |of l = J„f5

4 w^So* bj LTi oi r-t ^-'^—

«

le If T ^ *, '^'""^ ""y -Jrawings.)
"• " ^ ''"'»« If lb- of tea equally among 3 fam«r much will each family receive' "

Circles ' ' "
"

ilies

linci _ ) i of 1| =
17. What will 8 -. .rds of cloth cost at ^ a yard ?

Hi
it:



62 OBADED ARITHMETIC.

1. At $1 a peck, what will 2 bu. of potatoes cost?
2. At $^ a quart, what wUl 2 pecks of cranberries

cost ? I of a bushel ?

3. What must I pay for a dozen peaches at the
rate of f of a cent apiece?

4. At the rate of 3 apples for 5 cents, what do I

pay apiece?

5. From a piece of cloth SO^ yd. long there were
sold at one tune 8| yd., and at another time 14^ yd.
What is the remainder worth at 8^/' a yard?

6. A workman being paid at the rate of $1| a day
would receive what in the month of April, counting
4 Sundays in the month?

7. If 1 yd. of cloth copts | of a dollar, how many
yards can I buy for $6 ? for $2j ? for $7^ ?

8. At $1 a yd., how many yards of cloth can be
bought for $3? for $7^? for $3|?

9. ''f a man smokes 4 cigars a day, and the cigars

cost at the rate of three for ten cents, what will his

cigars cost him a week? a month? a year?
10. How many yards of ribbon in three pieces con-

taining 4^ yd., 3f yd., and 4^ yd.?
11. John had 20 cents and James had | as much

;

James's money was ^ of William's. How much had
William ?

12. From a dollar there was paid the cost of 2^- lb.

of raisins at 14 < a pound, and 3| lb. of fish at 8 / a
pound. How much money was left?

13. I of the days in September are how many days
and hours?
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Add

If

^

If

H

6f

14.

m
834

83f

3i
6|

^

6i

6i

If _6i- _2jV _6i

2i

3f

H

6i

2*

2|

20.

84|

42f

67i

63| 83j- 84f

U.

14t
28|

26i

A. 10.

6i 8i

n 13i
12^ 18f

2& 16. 17.

28i 67tV 59J

416i'V 38f 27|

39i 56i 68^
68| 83f 97|

57| 26^ 28^

21. aa. 23.

87i 37i 47f
58| 66tV 29|

74| 48| 56|

994 754 384

66f 59{4 644

44

6f

8*

9*

12.

36tV

45A

28A
63|

18.

684

47|

894

744

96|

24.

37if
69|

454 8244

88tV 684

7.

5f

8|

94

7|

Ji

13.

84f
754

86|

94f

37A

19.

274

84^
74A
88|

734

as.

93f

854

544

76A
71|

57t'.n
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54
GRADED ABITHMETIC.

Find the difference ;

^ 2. 3

A 3| i|

8.

12|

IS.

24^

lOA

22.

29.

40

36.

100

_48|

42.

384|

1601

48.

9.

H
-ii

16.

23.

27|_ 49f

30.

83

49.

642xV 7004-

26H_ 380VV

10.

10|

-it

17.

38|.

27|_

24
28|

58J 73^

2r

31.

46.

?H jn 38^

38.

135

4.

8|

-ii

u.
14^

la
30/2-

25.

5.

9

Jl
12.

16^

.6.

12

13.

6|

19. 20.

46f 31|

}H__ 21|

26. 27.
601- 72J 74|

& 58£_ 38^ 65^

32. 33. 34.

75| 62i 48A
25i_ 37i_ 271

39. 40.

7.

18

14

16A

21.

40

26jV

2a

81f

i?i

35.

63^'

41.

286f 371| 289^,^ i27j 2841

44. 45. 46.

704f 380^ 628*
1961 1591 439^

47.

582f

296f

51. 52 53.
250^ 812| 9601

-i5L iM 307t»,
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Reduce to whole or mixed numbers :

1. V-; ¥; ¥; -V-;|f; Vs ff

Reduce to fractional numbers (first to lowest terms):

*• 8A ; 9tV ; 8tV ; 7| ; 8f ; 7M ; 9A.
5. 15f; 18^; 24i; 27|; 32 f; 65| ; 72|.
6. 42f ; 36| ; 32| ; 59f ; 67^^ J 84H ; 92f

Multiply

:

7.

2^
6

14.

7

21.

6

28.

35.

2H
JL

a
8*
4

15.

8

4^

9.

2

22.

18^

8

29.

H

16.

5

23.

27i
6

10.

8

17.

9

_6|_

24.

34|

8

30. 31.

6i 3i

ii JL

11.

4f
8

18.

10

-Ji

25.

28|

7

32.

6i
8

36.

32|

37. 38.

84^ 28f
^ 8j

12.

7 3

8

19.

12

26.

38tV
9

33.

2|

39.

36|

13.

8tV
6

20.

11

27.

43|

6

34.

4|

JL
40.

29|

JL



if :'

lli!

66

Multiply

:

1. a.

86J
12£

7.

91|

27^

83^

_23J

8.

851

221

ORAI)t;D ABITHMETIC.

4.

58|

27^

9.

65f

lOi

78|

36J

8.

48|

32|_

11.

26

8.

24|

12.

85

13. Reduce to thirds: 4 ; 8A • 24 • 2fi4 . i^ni
«. Reduce to Whs: 6 -^ fliiTuoTU
Divide

:

•S 2a 3^} 4Si 6i|^
22 23! a* a«

H118 2})26 •3})ji2 2^

4)8i

21.

H)17

26.

4)86}

30.

H)342

9t.

2|)586

27.

3)124^

31.

1})462

28.

6)483}

32.

2}) 849

35.

3}) 486
36

2|]683_

29.

2]384i

33.

3}) 620

37

6}143^
38. Divide 12} by }; by 1}; by 4- bv 24
39.Divide8|byl};by%}^^;|;,X||.
«.Reducetoeighths:};|J|^V6|
«. Reduce to twelfths:

I; 3}; 6i;'8},. Vf; 28|
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3.

4.

5.

6.

7.

1. Reduce to twelfths: 50; 62^; 37f; 824
a. Divide 40 by 8|; by 14|; by 16 J.

Divide 20f by 1^; by 6|; by 12|.
Divide 80| by 7i; by 18f ; by 244.

(16| + 27i-14^ + ]6i)X20.
(18ixii + i2j-i6|4-25|)-3|.

(24f-15^ + 25f-27| + 4,V)xi2.
8. (371 - 13 J- - 18| + 28|) X 12
9. (140 ^ 2f + 16| - 42f + 16f ) X 18.

10. How many steps 1^ feet high in a stairway 18
feet high? "^

*.^ ?!*^^ ™*"^ days will a man have to^work to earn
$640, if he earns $2| a day ?

12. A money drawer has in it $68f . How many days
will it take to empty it if I take $lf from it daily ?

13. Among how many persons can I distribute S937i
giving to each person $1| ?

^'

14. How many days in a year ? How many working
days? A man earns daily $1|, and his expenses are on an
average $1| a day. How much does he save in a year ?

15. If a watch loses 13^ seconds a day, how many
minutes will it lose in the month of January?

16. Four boys earn a certain sum ( money selling
papera. The first earns i of the whok, the second 4
the third

i, and the fourth the rest. What part of
the whole does the fourth boy earn ? If the first boy's
earnings were 20 cents, what can you say of the earn-
ings of the others?

17. If j\ of a lot of goods is worth $360, what is 4 of
the lot worth? ^ofit? fofit?



58

ft.

GRADED ARITHMETIC.

1- A cart loaded with coal weiffhs 2*149 ik tx.
alone weighs 624J ,b. Ho. JX^tLJllT^What ,. :t worth at the mte of i of a cent a pound

7* '

A
O- C

o

2. If from ^ to ^ it is 3^ miles, and from B to C 9itimes as far, how far is it from AtoC? ^'

3 If it is 964| miles from New York to Chicago, and

ho^ fTrTit f'
"

Pv'
'"" ^^^^^^« '^ «- ^-ncis"ohow far IS It from Chicago to San Francisco ? How farfrom New York to San Francisco ?

bTken offf
'' """^ ^^"^ "^^ *»- P-« *^-t was

5. A grocer bought molasses at the rate of *| a gallonand sold It at U a gallon. How much does he mfke ona barrel measuring 35 gallons ?

6 If a man walks 3 miles an hour, how many miles

:w^?mir^"^^«^-^-^-"^^-^^^^^
7. If a boy walks 2> miles an hour, how far will hewalk m^4 hours. How long will it take him to wJk
a A boy walks 2^ miles an hour. How long will it

nl'Z
'' ""''' '^' ""''''

'

«^- '- ^^^" '^ ^ in

9. A railroad train which nms at the rate of « of amde a minute will go how far in 4 h. 20 min.?' Howlong will It take it to run 100 miles ?
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X. A horse trots 8 miles an hour. How far at the
same rate will he trot in 8 h. 15 min.?

2. Going at an average rate of f of a mile a minute,
how long will It take a train to run from Boston to
Chicago, a distance of 1050 miles?

3. The rainfall in a certain city of Mexico during 1891
was as follows: January, | in.; February, 0; March,
Im.; April, 2 in.; May, 3^ in.; June, If in.; July,
0; Aupst, f in.; September, 1^ in.; October, I in •

November,! in.; December, ^ in. What was the entire
rainfall for the year? Difference between January and
May.' September and December?

4. The amount of rainfall during the year 1890 in
Mobile was 64,V in^; in San Diego, 11^ in.; in New
Organs, 64 in^; m Yuma, Arizona, 3^ in.; in Chicago,
^ji in.

;
m Baltimore, 44^ in. ; in St. Paul, 274 inFmd out as many facts as you can from the above

figures.

5 Rates of letter postage to any part of the United
btates are "two cents per ounce or fraction thereof"
and on pnnted books, pamphlets, etc., the postage is
-one cent for each two ounces or fraction thereof."What IS the postage on the following articles : 1 letter,
S, oz.? 1 book, 5^ oz.? 1 sealed letter, 5i oz ? a

bookr3|1b.f""'"'
""'''"^ '^ ''••

^ P^^^^^^ ''

9fif T wiT'"
'^^^ ^'^"^ ^ P^"'" «^ ^^°^h measuring

^Oj yd. What cost the remainder at $f a yard ?
7. Cost of 3 pk. 5 qt. of apples at 20 / a peck ?
8. At $1 a bu., how many bu. of com can I buy for $40?

Ill



SECTION V.

DECIMAL FRACTIONS TO THOUSANDTHa

Ond and Written BzoreiMs.

or ,01

Cut out a paper square of this size. Cut into

strips as shown by dots. Divide by lines as

above, each strip into 10 small squares. Each
strip is what part of the large square ? Mark
on one side ,\j or .1.

Each small square is what part of the large

square? Mark it ^J^ or .01.

How many small squares are equal to 1 strip?

How many hundredths are equal to .1?

iV or .1

1. 7 Strips are what part of the large square ?
2. 1 small square is what part of the large square ?
3. 18 small squares are what part of the large square ?



DECIMAL FRACTIONS TO THOUSANDTHS. 61

Bead the following:

1. 2 strips are .2 of the large square.

2. 3 strips are .3 of the large square.

3. 7 strips are .7 of the large square.

4. 1 small square is .01 of the large square.

6. 7 small squares are .07 of the large square.

6. 18 small squares are .18 of the large square.

7. 42 small squares are .42 of the large square.

8. Write in figures what represents 4 strips ; 6

strips ; 3 small squares ; 56 small squares ; 10 small

squares ; 60 small squares ; 1 strip and 2 small squares
;

3 strips and 6 small squares ; 7 strips , and 5 small

squares.

9. Show by strips and squares what are represented

by .4 ; .8 ; .08 ; .12 ; .23 ; .42 ; .87.

10. How many strips in 23 small squares ? in 46 small

squares? in 63 small squares? in 94 small squares?

11. How many tenths and hundredths in .23 ? in .46 ?

in .63? in .94?

12. Read in units, tenths, and hundredths : .4 ; 4.4
;

3.9; .06; .19; 7.02; 8.05; 9.17; 3.25; 17.08; 83.83.

13. Write in decimal form : ^ ; ^ ; j^^ ; ^ ;

14. Express in decimals of a dollar 10^ ; 18/ ; 25/ ;

64/; 1/; 8/.

15. Read the dollars, dimes, and cents in the following

numbers : $1.28 (one dollar, two dimes, eight cents)

;

$6.43 ; $9.75 ; $10.05 ;
(one dime = 10 cents).

16. Read the dimes and cents in the last exercise as

decimals of a dollar.

n
' ii
I i
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J
1

.

f

)

'

1. Dividing the small square into ten equal parts or
slips, one slip is what part of the small square ? Howmany slips are equal to the large square ? What part
of the large square is one slip ? Representing the large
square by 1., one strip or one-tenth is how representee??
One small square or one hundredth is how rep«.sented ?One slip or one thousandth is how represented ? Repre-
sent by figures

: 2 slips
; 5 slips

; 8 slips. Represent
by figures 2 small squares and 6 slips.
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1. Write in figures : One dollar eighty-three cents and
five mills; twelve cents and four mills; twenty cents

and six mills; eight mills.

2. 1 mill is what part of a cent? What part of a
dollar? 8 mills is what part of a dollar?

3. How many tenths, hundredths, and thousandths in

.625? .834? .906? .007? .076?

4. Read the above decimals in thousandths.

6. Write decimally; ^Vj iVi^J tAi^; iWui lihi

6. Copy and read: .17; .60; .679; .835; .706; .086;

.009; .803; .031; .060; .007.

7. Express decimally : 8 tenths; 16 hundredths ; 329
thousandths; 43 thousandths; 8 thousandths; 306
thousandths; 17 thousandths; 500 thousandths.

8. Copy and read: 1.8; 1.08; 4.008; 3.081; 17.400;

83.010; 20.001; 170.017.

9. Express decimally: Ten and twelve hundredths;
eighty and five hundred five thousandths ; twelve thou-
sandths ; fifty and five thousandths; sixty-five thou-
sandths ; four hundred six thousandths.

10. Express decimally : 1^ ; lj\\ ; 10^^^ ; lOO^V ;

11. Express decimally: 8 tenths; 25 thousandths;
105 hundredths; 120 tenths ; 1005 hundredths ; 1005
thousandths; 12,505 thousandths; 1 thousandth; 405
hundredths ; 1001 hundredths.

12. Hov»' many tenths in 3 units ? in 12 units ? in 100
units ? in 6 units and 4 tenths.

13. How many hundredths in .4? in .7? in .6?
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in Lstrrr'soor

"

'' ""'''' ^^-^^^^ - ^-^^

qfio*^'*'^. .T"^
hundredths in 6? in .6? in .600? in.360? ,n 4.4? in .800? in 1.46? in .060? in .360?

4. Reduce and express decimally the following : 4

25 4^ %i° '''.T^''
''^^^^^^ ^" J°^««t tenns

: .5

V^l' -^^^ -lOj -250; .600; .800; .005; 606. Reduce to hundredths : i ; i ; 4 • 1 . a
.'

i \

7. Reduce to hundredths : ft ; A • A • L • 11 . 1

8. Reduce to thousandths : i;4:l. i-i...,

9. Express decimally
: Two and three thousandths-

forty-seven thousandths; four and four hundred forty'

ttr ana 4 ^'^'l T .'""'"^^ «^^ thousandths^
thirty and three hundred thre. thousandths; seventh

thlTndts'"'^^^^"*^*'^"-^^^^^
eighty and eighl

fJ^^l
\^^^

""""u"'
^^'^^^' ^""^ *^« ^^l"e of each

figure^ How much greater value is expressed by the

fhT.K^.7
than by the second? by the second than bythe third? by the third than by the fourth?

^
11. What part of 4 is 4 tenths? What part of 4tenths IS 4 hundredths? p «- 01 «

12. Express decimally: 4 hundredths. By removing
the pomt one place to the right, what is done ?
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1. Express 4 tenths decimally. What effect has it to
remove the point one place to the right? How much
larger is the number than it was before?

a. Compare 4., .4, .04, and .004.

3. Compare .4 and .40 ; .40 and .400. What effect
is produced by annexing a cipher to a decimal ?

4. Compare .4 and .04 ; .04 and .004. What effect
is producjii uv

the left?

6. "Wrice

dollai', niid

6. "Write

hundredths

7. Write

thousandths

8. Add .4, .03, and .006 ; 7., .8, and .09
9. Place in a vertical column, add, and explain • 6

.5, .3, .4 ; .06, .08, .09, .05 ; 40., .8, .09, .75, .83, A2
10. Add 4.634, .308, 54,065, 7.84, 9.863.
U. Add .407, 3.086, 70.194, 6.05, 207.8, 9.004, 80.307
12. Add 86.074, 69.005, 3.694, .783, 460.083, 37.008.
13. Add sixteen hundredths, forty-two and eighty-

four thousandths, ten and seven hundredths, fifty-nine
and eight thousandths, twelve and four hundred six
thousandths.

14. Add eighteen and seven hundredths, fifty and six
tenths, two hundred seven and eight thousandths, five
hundred eight thousandths, nine hundred fifty-seven
thousandths, eighty-nine and six tenths, forty and
seventy-six hundredths.

iemovin,T the decimal point one place to

n.i a Id 4 tr-iths of a dollar, 3 tenths of a
b tenths of . dollar.

'/it' Kid 2-j hundredths of a dollar, 40
of a f^ollar, and 75 hundredths of a dollar.
iuid adf' 365 thousandths of a dollar, 463

« r a dollar, and 75 thousandths of a dollar.
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m

X. From the large square take one strip,
by figures what you have done. (See page

a. From the large square take four strips,
by figures what you have done.

3. From one strip take one small square,
by figures what you have done.

4. From one strip take eight small squares,
by figures what you have done.

6. From one small square take three slips,
by figures what you have done.

6. Show what is represented by the
1-.2; A-..2; .10-.06; .18-.12:
.04 -.023; .034 -.016.

Represent

62.)

Represent

Represent

Represent

Represent

following

:

.Ol-.Obl;

Write in decimals and. perform the following

:

7. From 45 hundredths take 3 tenths.
8. From 6 tenths take 34 hundredths.
9. From 4 and 24 hundredths take 5 tenths.
10. From 8 and 264 thousandths take 12 hundredths.
U. From 379 thousandths take 28 hundredths.
12. From 6 and 2 tenths take 342 thousandths.
13. From eight hundred three thousandths take seventy-

four hundredths.

14. From sixteen and four hundredths take three
hundred nine thousandths.

15. 28.001 - .75 = ?

16. 680.08 - 39.089 = ?

17. 149.007-83.86 =?
18. 93.01 - 7.809 = ?

19. 300.007 - 9.69 « ?

83.074 - 9.008 = ?

83.42 -7.096 = ?

87.6 - 9.009 = ?

94.002 - 7.694 ^ ?

32.507 - 6.808 = ?
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1. From 18.384 tons of coal there were used 8 108tons. How much was left?
^^"*^

wL^T 7^^ ^""""^ -^^ °^ * «hip sold .226 of itWhat part of the ship did he still own?
3. I ordered six tons of coal. Three loads were brouirhfweighing respectively 1.37 T., 2.026 T 2 109^ wmuch remains to be brought ?

"^^ ^^ ^'^^^ T. How

ing4f25'lrL^'"r
"«^«\^« 412.5 grains and contain-

I fIT u''P^' *^^ '^"^ '""^h pure silver ?
5- J<rom a cask containing 42 275 J^^ ^f i

^ere we« drawn at diffeJt tw 'l^'fir *^f
gal. .75 gal., 8.625 gal. How much remtiSd?

^
^

8. 8Sx2 T- <^P»«««2.) .5x2 = ?

atrips 8^: 2 = r - '*"•" = - '"«« -1— and -
»• 3 strips and 6 small squares x 2 = ?

10. 8 strips and 4 small squares x 3 = ?U- 3 slips X 2 = ? .003 X 2 = ?

M- 8 slips X 2 = ? .008 X 2 = ?
13. 2 small squares and 3 slips x 2 = ^

!• 3 small squares and 7 slips x 2 = ?
IS- 6 small squares and 8 slips x 2 = ?
16. 4 small squares and 6 slips x 3 = ?

.23YxV=f'

^ '""*" ''*"^'''' ^"^ 4

M. 2 strips, 3 small squares, and 9 slips x 2 = ?
19- 3 strips, 6 smaU squares, and 8 slips x 2 =?

.36 X 2 = ?

.84 X 3 = ?

.023 X 2 = ?

.037 X 2 = ?

.068 X 2 = ?

.046 X 3 = ?

slips X 2 = ?
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Multiply: ^

1.

.08

2.

.008

3.

.036

4.

.148

5.

.346
4 4 6 8 ^ 7

9.

.38 .75

8.

.069

9.

.406

10.

.514
5 9 8 3 6

u. 12. 13. 14. 15.
.635 .743 .659 .835 1.674

9 7 8 8 3

ao.
16. 17. 18. 19.
.754 .834

, .605 .702 .837
12 16 18 26 25

21. 22. 23 24. 28.
1.67 1.396 3.046 2.709 4.739
15 28 24 38 32

36. 27. 28. 29. 30.
6.094 7.068 9.009 16.07 109.6

42 38 45 43 54

31. 33. m 34. 35
30.75 56.038 807.6 76.384 406.09

38 46 58 28 72

36. 37. 38. 39. 40
46.384 58.009 38.072 65.806 38.780

38 75 49 86 94
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I.

60.109

x84

1.

73.083

X66

s.

40.008

x55

4.

73.086

x93

5.

85.069

x86

6.

7.

a
9.

10.

u.
12.

13.

14.

18.

M.
17.

18.

19.

20

.6x10= ? 6.4x10= ? .64x10=?

.06x10= ? .064x10= ? 1.064x10= ?

.03x100= ? .003x100= ? .034x100= ?
6.3x100=? 8.07x100= ? 9.65x100= ?

70.3x100= ? 80.04x100= ? 806.6x100= ?
8.034x100= ? 7.009x100= ? 30.008x100= ?
800.6x100= ? 30.06x100= ? 780.09x100= ?
68.4x10^? 8.069x10= ? 9.406x10 = ?

8.069x20= ?

4.506x30= ?

82.4x50= ?

6.84x50= ?

4.48x25=?
64.2x25? 9.4x25= ?

^ !I^^^^=- ^8-40x100=? 164.20x100= ?
». 187.10x10= ? $7.08x10= ? $8.09x100= ?
22.14.08x100= ? $8.65x1©= ? $9.75x10= ?
23. $8.40x50= ? $76.40x50= ? $86.30x50= ?
24. $7.06x50= ? $8.04x25 = ? $6.08x25= ?'
25. $80.06x50= ? $70.04x50 = ? $8,006x50= ?

1 T a ^9^
^*"^* ^^ *^°^ "^*"^ ^*"P®^ (^^ P*8^ ^2.)

27. ^ of 7 strips is how many strips and small
squares? ^ of .7= ? .7-^2=?

28.
:^ of 6 strips is how many strips and small

squares? j of .6= ? .6-t-4= ?

68.4x20= ?

3.94x30= ?

82.4x100= ?

5.42x50=?
3.28x25=?
8.04x50=?

9.406x20= ?

8.602x30= ?

8.24x50=?
4.86x50= ?

6.6x25= ?
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I!

J ot isi*"K =
r"" """"*'=' ^^ •»«« «2.)

4 I of « l"*^ "I''
* ™*" ^1"*"«= ? 1-26-6= ?

.324^6^?^
''"^'

^ ™*" *1'"''^' "'«' * »«!«= ?

'•^!^if „8*'>y2; by 3; by 4, bye.
•• Divide 6.48 by 3; by 9; by 2- bv 19
•Divide 4.08 by 2, by8 bys' bvlf'
10.Divide6^76by5;V3/b;V'-
U. Divide 10.008 by 4'- bv 8. K^ Q u n
la Divide 557.694 b/4^ L 3 • L 9 • bv 1«
X3. Divide 60.900 b/3;\/3^.tr300^
S'ww ^^-^^^^^^ by 300; by 90.
15. What part of 1 square is .1 of 2 squares? 1 .f

3 squares? .1 of 7 squares? ^ ^ '^ °^

ofTsqu^.S'T^r''" ""'^^ ^'"P^- ^^h-* part

2 ofTr f «quares= ? .1 of 50 squares= ^
•^ «f 20 squares= ? .2 of 50 squares= ? 4 of 80square8= ? .8 of 100=? •

-i ol «0

ou X .2 = ? 80 X .4 = ? 100 X .8 = ?

90^1.9lll20x8-V=^ ««^^-^=^ «0X2.4 = ?

$
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1. 690 X 14.3 = ? 680 X 18.8 = ? 1760 x 8.6 = ?
1210x14.8 = ? 2760x18.6 = ?

2. 9370 X 7.9 = ? 4870 x 24.8 = ? 3840 x 18 6 = ?
4780x47.8 = ? 9370x44.8 = ?

3. .1 of 4 strips=how many small squares? What
part of a strip? .1 of 20 strips=? .1 of 40 strips=?
.1 of 80 strip8= ? .2 of 20 strips=? .2 of 80 strips=?
.2 of 60 stripB= ?

^

4. .4x.l= ? 2.x.l= ? 4.x.l= ? 8.x.l=? 2.x.2=?
2=? 6.x.2=?
.1 of 4 squaxvs and 4 strips= ?

.1 of 8 squares and 6 strips= ?

•2 of 4 squares and 4 strips=?
.2 of 8 squares and 6 strips=?

9. .4 of 8 squares and 6 strips= ?

10. .6 of 4 squares and 8 strips=?
11. .8 of 3 squares and 4 strips= ?

8 X
5.

6.

7.

8.

4.4x.l = ?

8.6x.l= ?

4.4 j< .2= ?

8.6x.2= ?

8.6x.4= ?

4.8x.6 = ?

3.4x.8=?
12. Tenths of units give what? Tenths of tenths

give what?
13. 8.4x.9 = ? 7.6x.6 = ? 9.3x.4 = ? 12.8x.o = ?

42.5x.4 = ? 32.9x1.5 = ?

14.69.8x3.2 = ? 47.9x6.4 = ? 83.2x74 = ?

89.8 X 16.4 = ? 72.8 x 24.5 = ?

15. 54.3 X 25.8 = ? 164.9 x 27.6 = ? 435.6 x 24.3 = ?

876.8x34.8 = ? 307.8X48.5 = ? 40.9X124.2 = ?
16. .1 of 1 small square = how many slips?

.1 of 8 small squares = ? .08 x .1 = ?

.1 of 5 small squares = ? .§5 x .1 = ?

.1 of 20 small squares -= ? .20 x .1 = ?

.1 of 24 small squares " "- - -

17.

18.

19.

== ?
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4.37 X 1.2 = ?

7.84 X 8.3 = ?

give what*^
°^ *""**"' ^^^ ""^^^

^ ^'°*^ ""^ hundredths

.83^x2.4 =
?^' .86x.3 = ? .45x.8 = ? .78x1.2 = ?

4. 1.46 X .8 = ? 6.84 X .8 = ?
8.69 X 4.3 = ? 7.43 x 8.2 = ?

5. 8.06 X 5.3 = ? 9.09 x 6.6 = ?

9.48 X 12.6 = ? 18.69 x 25.3 = ?
6. 64.37 X 42.8 = ? 95.63 x 8.8 = ? 108 34 x 5 4 - ?

107.09 X 10.6 = ? 208.08 x 100.9 = ?
^ ^

7. 3 large squares contain how many strips ?
8. 2 strips have how many small squares ?
9. In 2 large squares ank 4 strips how many strips ?
10. In 3 strips and 4 slips how many slips ^

.4 ^all"^
^"^ contained in 4 strips how many times ?

12. 3 small squares are contained in 9 small squareshow many times ? .09 -r .03 = ?

.Oo"-^002ir
'"'''^^"^ "'' ^ "^' how many times?

tun'es ?' 7T2Z ""^'"''^ '" ^ ^''^ '^"'^ *^°" ™^"^

tim'fs
?^ 2*1^7^^;°°*^^°^^ i" 2 large squares how many

time's ?' Tf.02=T '" ''"^^'^ ^' ' ''"P ^'^^ °^^"y

tim'^ ?' t2?^or: r"''
" ' """ ^^"^^ ^°^ --y
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1. Divide 3. by 5. ; by .5; by .2; by .05.
2. Divide .6 by .3 ; by .02 ; by .03 ; by .003.
3. Divide 1.2 by .4 ; by .6 ; by .03 ; by .006.
4. Divide 4.5 by .6 j by .3 ; by .09 ; by 1.5
5. Divide .8 by .4 ; by .04 ; by 4 ; by .004.
6. Divide .08 by 4 ; by .4 ; by .04 ; by .004.
7. Divide 6.09 by 3 ; by .3 ; by .03 ; by .003.
8. Divide 10.5 by .5 ; by .05 ; by .005 ; by 5.
9. Divide 8.1 by .09 ; by 9 ; by .009 j by .03.

10. Divide 60. by .03 j by .004 ; by .2 ; by .12.
11. What part of 4 strips is 2 strips ? .2 4- .4 = ?
12. What part of 4 squares is 2 strips ? .2^4= ?

13. What part of 4 strips is 2 small squares? .02-^.4=?
14. What part of 4 strips is 2 slips ? .002-^.4 = ?
16. What part of 3 small squares is 3 slips ? .003 -^ .03 ?
16. Divide .08 by 4 ; by .4 ; by .04 ; by .004.
17. Divide .108 by .09 ; by .009 ; by .9 ; by 9.
18.

19

20

21.

22.

23.

Divide 6.03 by .03 ; by .003 ; by 3 ; by .3.

Divide 10.08 by .06 ; by .006 ; by 6 ; by .6.

Divide 16. by .8 ; by .008 ; by .2 ; by .04.

Divide .6 by 6 ; by 60. ; by .03 ; by .002.
Divide 12. by .2 ; by .006 ; by 120. ; by 24.
Divide 1.8 by 9 ; by 18 ; by .003 ; by 30.

24.

12.5 -T- .05

2.-^.004

20.06 -^ .02

8.01 -f- .009

25.

4.02^.003

42.-f^.03

4.2^.03
40.002 -^ .3

26.

8.7 X .03

15.03 -J- .009

7.08 H- .6

.01-^2.

27.

420 -f .07

3.6 -r .06

.8^20.
3.62 -r 1.6
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I ?i 1.

3.06 -f- .6

18.06 -.006
180.6 -=-.06

3.3-T-.2

8.07 -T- .02

8.

6.4 X.

5

.006 X 30

8-r.05

16.02 -r .9

7.6 X.02

9.

(20.06+8.7)x.8

(276.8-36.09)x.6

(37.4-8.03)-^30

(6.6+80.2)-J-.03

(14.7-6.09)X4.6

a.

1.23 -r .5

70.2^.09

3.06 -H .009

10.-r.06

1.8-r20.

308.3x5
2.008x60
.03x14.6

270.8 X 8

860.04-^.09

a
6.04 -r .008

18.003 -r .03

7.105-^.07

.6^.012

3.-rl.2

7.

70.56 -^ .006

3.03-^.003

7.-f-.08

4.1 --.4

6.03x4.6

4.

1.2 -f- 30

40.8-f-1.6

.05 -r .026

20.-f-.05

1.08 -r 1.2

8.

308.8 X.46
7.08 -^ .003

3000. X .009

.008x400
90.06 -r .03

U
13.

14.

15.

16.

17.

la
19.

io. u
(7.08+28.9)x6.8 (9.03+81.87)x 15
(.39+6.61)-04 (76.65-4.37)-09
(1.5-.68)X4.6 (4.683+7.8)X20

(7.6+18.5)-f-.08 (6.008-^4. 128)x 9
(4.906-08)X40

(8.47+.53)^.009

48-j-10 = ? 4.8-M0 = ? .48-10 = ^

56-M00 = ? .6-M00 = ? 5.6 - 100 - ?

Ita^M^' ''^''-' .7^10o!=7'
846-M00 = ? 64.3-100 = ? 804-100-?
93.7^ 10 = v 80.6^10 = ? 47 61 m^T
$46.80 -MO = ? .*8.09-M0 = ? *16 40-7o-.

$1^50 = ?/ |62-50 = ? -/x62 = ?
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1. 182 -- 60 = ? $56 -^ 50 = ? $86 - 60 - ^

a. $460^60 = ? $830-f60=:? |426 -^ 60 = ?
3. $42^26-? |34--26 = ? $46 - 26 = ?
4. $70 -r 26 = ? |44 ~ 26 = ? $66 ^ 26 = ?
6. $442-26 = ? |342-f25 = ? $624-26 = ?
6. If 100 bbl. of flour cost $686, what cost 1 bbl.?
7. If 100 lb. of rice cost $8.60, what cost 1 lb. ?
8. I pay $12.60 for 100 lb. of meat. What should I

pay for 60 lb. at the same price ? 26 lb.? 20 lb.?
9. If 50 bu. of potatoes cost $34, what cost 1 bu ?
10. At the rate of $68 a hundred, t^hat will 1 pen-

knife cost?

11. 26 doz. eggs cost $4.80, what cost 1 doz.?
12. 60 bbl. of sugar can be bought for $176. What

cost 1 bbl.?

13. What will 4.1 barrels of oil cost at $6 a barrel ?
14. I owned .1 of a factory, and sold .1 of my share.

What part of the factory did I seU ? What part of the
factory do I still own?

15. A man walked on Monday 24.3 miles, on Tuesday
18^8 miles on Wednesday 34.04 miles. How many miles
did he walk m the three days ?

16. If a note-book costs 6 cents, what part of a dollar
does It cost, and what part of a dollar would 10 note-
books cost?

17. If a hat costs $2.6, what will 20 hats cost at the
same price?

18. If an orange costs 2 cents, how many can I buy
for .4 of a dollar? How many for .04 of a dollar?

19. At 2^ each, how many apples can I buy for *fiO?
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20 rods? How many yards in .2 of a rod ?
a. How many paces does a man take in Boini? 60 feet

if his paces are 2.5 feet long?
^

^

'

a At .06 ofa doUar a pound, what will 60 pounds ofsugar cost? What will 2.6 pounds cost?
4. If 2 of a pound of meat costs 4 cents, what wiU

1 pound cost? What will 6.4 pounds cost?

to ei:i n7ftT"
°' '"" '•' ''• ^^"« -^" '' "^^^

6. How many widths of carpet 2.6 ft. wide willexactly cover a floor 12.6 ft. wide?
7. I bought 8 doz. oranges and sold .26 of themHow many remain?

i.^J^ ^''^^o^^fT^ °^ ^^""^ °°^« 1-8 doJlars. whatw the cost of 2.6 barrels?

9. .36 of a farm was sold for |700. What is the
rest of It worth at the same rate?
W. What will 8.6 tons of coal cost at $6.40 a ton?

buy fot |6? *
"^"^ ^^^' ^"""^ "^°^ P'°'^^' ^^ ^

worth?' .?6f'08?
"''*' ^''''''' "'^* ^« -^ ^' ''

Hn^ '^^Tr ^f ^- ^ ^ ^^"^ °* * «"^«y°r's chain.How much less than a foot is it?
X4. There are 100 links in a cham. How manymchos long IS the chain? How many feet?

48 rods? m 6.6 rods? in 18.4 rods?
16. How many rods in 66 ft. ? in 1419 ft. ?



SECTION VI.

MENSUKATION.

Oral and Wxtfetan BzsicteM.

1. Copy the following table upon slate or paper, and fill

out blanks, first estimating the distance, then measuring
and finding the difference between the estimate and the
true distance. Measure long distances by pacing. In
error column let -f indicate the amount too long that
you have estimated ; - indicate the amount too short

j

indicate that you were exactly right.

Ertiinato. Dittuee. KiTor.

Height of teacher's desk 3 ft. 2 ft. 6 in. 6in. +
Width of door

Heis^t of window.....

Length of school-room. _

Width, of school-room _

WMth of street in front of school-

houae

Distance from school-house to post

office

Distance from my home to the

school-house
«

Distance I can walk in an hour.
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How many

:

^^l.Feeti„2.,d.?
3 K 1 ft. ? 100 in.. 4^ yd.?

2. Inches in 6 ft. 4 in.? 8| ft. ? U yd ' ^ vrf f
• ,

3- Yards in 68 ft. ? 96 i„. . 4, 'J, ' / ^/J^ '"J
4. Rods in 44 yd.? 1 „i.? 66 ft.?^50 yd ' 1 ^i' n^:^-

!• ^-'™.*f-
''*"J-? 3rd.4ft.?78yd m1"1'

*L.'tV6ft.f^-^^<'«^"«^-^^'^I2nd.?

1000

S' "''""'•' '''"''• ^520 yd.? 21120 ft.?

a Feet in 161 rd.? 3Jmi.? 6 mi.' 4. rd ? q •

ii yd. 1 16.25 yd. ? 125.5, rd. ?
' ^ ^ ""•

9. Feet in 1000 in. ? 68.25 yd ' 1* mi ? 7fi a 1 , <• »

n Mr •",«''•'' '^-^ Sfl^'/soln'?'''"-
^^*"

". Miles m 10,000 ft.? 1864yd.? 5600 rd.? 78 060ft '"• How many feet of bordering are needed fofJroom 18 ft. long 12* ft wide? H™ *

(Draw plan.) Cos^t at\2l7*Lf" """"^ ^''"''^

".•rr.rrri^^-5otr"^^^^"'"^
8/ a yarf?

."*""" ^" ^*- '™g 's worth what at

«• What is i of 18 mi. 60 rd.? of 12 yd. 2 ft .
16. How many revolutions will a wheel 10 ft incircnmference make in going a mile?

"

17- John lives 20 rd. from his school-house Howma^y tjmes must he walk that distance to w Ik a ^ZM. Draw a figure one inch long and one inch w de'This contams one square inch. Draw a figurTconUitmg two square inches; four square inches
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1. Copy the following figures. Divide by lines into
square inches. How many square inches in each figure ?
Make problems about each.
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X. Draw a line 1 inch long, and let it represent a dis-
tance of 8 inches. By this scale of 8 inches to an inch
draw lines representing 4 inches ; 16 inches ; 3 feet

2. Draw a line 3 inches long, and let it represent a
distance of 25 feet. To what scale is this line drawn?

3. By this scale draw lines representing 50 in., 25 in
12^ m., 8^ ft., 16f ft.

4. By a scale of 20 feet to an inch draw lines repre-
senting 5 ft., 30 ft., 25 ft., 55 ft., 80 ft.

5. The following lines are reduced 24-fold. What
distance does each line represent?

b

c

d

e

6. This is a square corner or right angle.—
- Point out all the right angles you can find.

7. Measure the length and width of the top of vour
desk, and make a drawing of it by a scale of 1 foot to
an inch. How many square inches in it?

8. Measure the length and width of your school-room
and make a drawing of the floor by a scale of 8 feet to
an inch. How many square feet in it?

9. Draw a rectangle 1 ft. long and 1 ft. wide. This is
a square foot. How many square inches in this square ?— sq. in. = 1 sq. ft.

10. A room 144 in. long and 96 in. wide is how many
feet long and wide ? How many square feet in the floor?
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1. How many square feet in a piece of land 20 vd
long and 20 ft. wide?

2. How many square inches in 2 square feet?
3. How many square inches in the top of a table 2 feet

square ? (Draw plan.)

4. Draw a square 1 yard long and find out how many
square feet in it. — so. ft. = 1 sq. yd.

5. How many square yards in a floor 8 yd. by 10 ft. ?
6. How many square yards in a floor 24 ft. by 100 in.?
7. The seat of a sofa is 2 yd. long and 20 in. wide.

How many square yards of material will it take to
cover it ?

8. The following plan of a garden is drawn fo a scale
of 72 feet to an inch. How m«ny yards of fencing wiii
it take to inclose it on all sides?

9. The dotted lines indicate the inside boundary of a
gravel walk. How much will it cost to make the walk
at 20^ a running yard?
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^L T"^^ '*'^. ^ **• ^ ^- ^°°« ^ill it take towdk around the outsidp of the foregomg lot? (Page 81

)

a. How many trees 9 ft. apart will it take to extend
around on the inside border of the walk, a tree being
set at each of the four comers?

1.^" ^^^0 "J?"^
'^''^'^ ^^* ^ *^^ «^^«"> including

the walk? How many square yards?
4. How many square feet in the walk?
6. If I of the garden is planted with vegetables and

i of the remamder with flowers, how many square
yards are planted with flowers? (Draw diagram)

6. A rectangular piece of land 20 ft. long and 84 ft
wide contains how many' square feet? How many feet
of fence will it take to fence it? (Draw diagram.)

ion'
\'^*^°^^^' ^°* «f '^°d is 180^ ft. long and

16^ ft. wiie. How many square feet in the lot?How many feet of fence will it take to fence it?a A lot of land 134^ ft. front and 1784 feet deep
IS worth how much at 14/ a square foot? At the rate
of 20/ a running yard, how much will it cost to put
a fence on two sides and one end of the lot?

9. K B is 3J rd. east from A, and C is 2^ rd. west
from A how far is it from C to B? (Draw diagram.)

.n? .

distance from A to C by the way of B ism mi. From A to B it is 21| mi. How far is it
from B to C? If it is 36f mi. from C to D, how far
18 It from A to D? B to D? (Draw diagram.)

11. How many square yards of carpet 1 yd. wide will
It take to cover the floor of a room 18 ft. long and 12 ft.

in. wide? How many yards?
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1. My desk is 6^ ft. long and 2^ ft. wide. How many
square feet m the top? (Draw plan.)

a. If the desk is 2^ ft. high, how many square feet on
one end ? on the two ends ? (Draw plan

)

3. The above rectangle represents a floor 8 ft. loneHow wide must it be to contain 16 sq. ft.?
4. To what scale is it drawn ?

5 If there are 21 sq. ft. in a door 3 ft. wide, how long
IS It ;

"

6. In the top of a boy's desk there are 120 sq. in It
IS 10 m. wide. How long is it? (Draw plan.)

7. If there are 600 sq. ft. in a floor that is 30 ft
long, how wide is it ? (Draw plan.)

8. How lon^ is a leaf of note paper that is 3| in. wide
and contains 38 sq. in.?

^

•
?-.\^*^°«»lar piece of land containing 5000 sq. ft.

IS UO ft. wide on the street. How deep is it ?

10. A board containing 10 sq. ft. is 8 in. wide. Howmany feet long is it?

80?q. yjT"^"'^"*
^ ^*- ^^^« ^ ^«^ long to contain

12. A room is 12.5 ft. long, 10.25 ft. wide, and 9.5 ft.
High. How many square feet in the floor? How many
square^et in the walls? How many square yards in
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If

I

obtu.eA»,te. Aeute/^
j^ Describe EH obtuse angle;

an acute angle. Point out the

obtuse angles in the following
figure. Point out the acute angles.

2. The above figure is a parallelogram. Why? efe is

the altitude. What is the base? Cut from paper a
figure of the same shape and size. Cut in place of dotted
lines, and arrange 2 thus :

3. This is now a rectangle. Why? Measure the
length and width. Find the area. The width of the
rectangle formed from the parallelogram is the same as
what of the parallelogram ? How can we find the area
of any parallelogram?

4. If the above plan (Exercise 1) is drawn 8 ft. to an
inch, how many square feet does the parallelogram abed
measure ?
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lo^/ ?'^® °^ ^^""^ '" *^® ^"^"^ °^ ^ parallelogram is
120 ft. long and has an altitude of 40 ft. Draw plan
on a scale of 40 ft. to an inch and find how many square
feet m the lot.

2. How many square yards in a floor havini? the form
of a parallelogram whose sides measure ir ft. and 12 ft
and whose altitude is 8 ft.?

3. Draw a plan of the "diamond" such as is used in
playmg baseball. How many square feet in it ?

4. Cut from paper figures of the same shape and size
as the above parallelograms. Cut in place of dotted
Imes or diagonals bd and eg. Compare the parts of
each parallelogram. The triangle a&^ is what part as
large as the rectangle abcd^ The triangle efg is what
part as large as the parallelogram efgh'! Cut other
parallelograms and compare in the same way.

5. What can you say of the size of a triangle and
parallelogram having the same base and altitude?
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ORAnED ARITHMETIC.

JL If abed on page 86 represents a lot of land 4fi filong, and efgh represents a lot 36 ft Ion. L I. 7
are the fiimres drawn 9 h ^' *® ^***^ ^»^«

rectangle fbT^9 u '''' '"^"^ ^»»»^ ^^^ i" the

wZ • r ^ ""^"^ '^"^'^ ^^^ ^ the trianrie aftrf?What IS the altitude of the triangle efa^ fW ^
can iind the area of any triangle ?

to srai'r
"''

'' ^'•- ^^^^ PJ-"

3. How ^any square inches in a tri-

*u?. ^^ f*-
^"""^ ** *^« *»*««> with an

altitude of 8 in.?

• A triangular field 16 rd. long
on the base has an altitude of 200
ft. How many square feet in it?

r\ '^t^
*"*"«^^ i« drawn on a scale

i Av .0^ ,*" ^"^^- How long is
^6 ao.'* ad9 dcf flp9 ti«

find ar«. of «6e? „f ^^./^f „f^,
Hovr can you

area of ahUt "^''*' '* *«

6. A floor in the form of a rectangle is 16i ft !„„„and contajns 148^ sq. ft. How wide^ the il^-
'°"*^'

meLres^Lw rar::'ftt '«"' '^"^ ""' '" ^^ '""^

A TT««r
^ ^* How many sq. yd. ?

Brussels carpetcontaining 60 sqlyd., if the carpet is | yd"! wide?



MENSURATION.
87

r This plan IS drawn on a scale of 8 ft. to an inch.
VVith a rule measure the dimensions of each of the
above figures composing the rectangle. Find out ifyou can, the area m square feet of each figure. Add
the areas together and see if the sum agrees with the
area of the rectangle.

2. How much will it cost to cement the floor of a
cellar 20 ft. long and 18 ft. wide at 42/ a square yard ?

3. A gravel walk 8 ft. wide was made outside of a
square lawn 40 ft. long. How. many feet around the
outside of this walk? How many square feet in the
walk t How ma.>y square yards ? (Draw plan to a
convenient scale.)

4. Draw a plan 3 feet square. Draw another plancontammg 3 square .eet. Find the difference in area
5^
A floor 18 ft. long and 15 ft. wide has a painted

border all round it 3 ft. deep. How many square feet
in the unpamted part? How many square feet in the
pamted part? (Draw plan.)
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1. A rectangular floor which requires 30 sq vdof carpeting to entirely cover it is 18 ft. long. Howwide IS It?
*

2. A square field 20 yd. long contains how many

2o\"r. ""r^
'"^"^7 ^"'^^ ^" °"^ «^^« «^ a room

^0 ft. 6 in. long, 12 ft. high?

IR^^r "?oY T^'' ^"'^^ ^" *^^ ^^^"« «f '-^ room
18 ft. long, 12 ft. wide, and 9 ft. high? At 60/ a square
yard, what will a carpet for the room cost ?

5. How many square y^rds in the walls and floor ofa n,om 20 ft. 4 in. long, 15 ft. wide, and 12 ft. 2h1
6. How many square feet of surface on the outsideof a box 3 ft. long, 2 ft. wide, and 1 ft. high?

Hfol iT-^^T '^?f.^^«* ^" the surface of a block ofstone 18 m. long, 15 m. wide, and 12 in. high?

;:ri;Thtiot?-^^^^^^*^^-- «~^«^-
Measure, draw plans of, and make problems about

:

?;. '^^t ^""Z
""^ ^''"'' «^l^o«l-room and entries.

•
^°' 1}^ '^^"' .^""^ blackboards of your school-room.U. llie openings— windows and doors— of vour

school-room. ^

12. The school-yard and sidewalk in front of it
13. The distance from your .school-house to the post-

office and other important points.



SErTION" VII.

BiwIaaM Tr«n««:tIoiui and Dwomiaata Wnmbera

coin n^ri t^?'^^
"'"^ ^" ^*'*^^*- A "»«" ha« «com of each kind. How much money will he have ?

and 4 fiZ" ? ^.^"^^^^ •'^ *«»-««»t pieces, 18 cents,

Toesthf/tLn
^^^^'^'^- «^- -»^ ^^«»- -» -ts

8. Write in a column the values in cents of li
quarters, o five-cent pieces, 20 five-cent pieces, 25
cent-pieces. Add the result.

^L'^'^'^o^
twenty-cent pieces; 7 half-dollars- 4

quarters; 6 ten-cent pieces; 5 five-cent pieces. From
the sum take $2.10.

6 What kinds of "paper money" have you seen, andwhat IS prmted on the paper ?

.u ^T ^^^^ '' P""*^*^ ^" ^"3^ ^«"«r bill or any
other bill that you have or can borrow for the purpose

7. Keduce to cents or cents and mills: U' «^ • *5 •

U; n-,
fi; ihU-.ti; H; $|, iif^-X, %[8. What part of a dollar is 25 /'r 121 5" 1fii7?

33J/? 37J/? 62^? 66?/? 83J/' 87.//*

ts'rst'e^f/"
'"*'"''" ®'^^'' "^^^8nV? «6.50?

10. Cost of 24 articles @ lei;?? eej/K 42 iqi ?
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CASH ACCOUNT.
ReoelTod. Kxpended.

Cash OH hand,

From father, for work done last week,
For candy, .80; for firecrackers, .40,
Iron Mr. Brown, for work, 4 hours.
For straw hat.

From Mr. Brown, for work, 6 hours,
For paper, .06; for haU, .40,
Balance on hand (at end of week).

July 10 Cash on hand.

1; The above cash account of a boy is for one weekbegmmng Monday and closing with a correct baTantSaturday night. Continue this account for one w^ekand balance the account, as before, on Saturday.
2. Rule paper for a ca^h account and make thefoUowmg entries: On hand, |1. 15. Bought at varioustmes through the week the following artLs : 1 boxof lozenges, $L08

; 2 doz. pass books @ 40/ ; 8 quir'sof paper @ 14/; a tooth-brush for 30/. Sold 80 rols

R V320' Ll'^ r''^ ^'T£\\f^
JP14.J7, $.85, $1.49, $2.56, $.45, $3 60 *715 VqoMake out in fuU a .„„«.„ cafh ^J'^Se^^^



BITSFNESS TRANSACTION. di

linnets Morse.
Kincston, Ont., Sept. 1, 1893.

Bought of Jason Bradford & Co.

54 yd. Cloth

^46 yd. Carpeting

86 yd. Silk

@ Sl.76

@ 2.26

@ 4-S7^

tte'lol?
''' '^"^ '"^"'' ^^" *^^" - ^^^^^ -<^ the

Halifax, N.8., March 18, 1894, 130 lb. sugar @ Sir •

b b. coffee @ 35c.; 18 lb. cheese @ l| • 14 taj'
molasses @ 46c. ' ^*''

1 ^18q'>\rK^'
^°"^^:^ "^ •^- ^- ^"P^^ * ^«' October

ir9KK^« J^"'
"""^ ® ^^^' 694 bu. oats @ 35/-

162 bbl. flour @ ^5.40.
^ oo;-

,

A^2^. f'"
'pf

*' ™]'""^ ^'^^^ 24 pairs of shoesat $2.25 a pair
; 38 pairs of boots at $3.50 a pair ; 146

pairs of slippers at $1.25 a pair, and 60 pairs of over-
shoes at 90 ^ a pair.

^

^6*25"; ^^T 9«V' ^- ^- ^"'" ^2 ^«^^« «^ ^««d at$b.25 a cord
; 28 tons egg coal at $6.50 a ton : 136

tons furnace coal at $6.25 a ton.

5. D. Arnold bought of G. B. Stone 226 lb. of beef at15/ a pound
; 168 lb. of mutton at 12/^ a pound : 154

lb. of pork at 10/ a pound.
e E. S. Child & Co. bought of H. G. Whitney 486 bbl
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A Stock-farmer sold the following lot.-, of cattle. Find
the amount received for each lot

:

1. Zo< JVo. i.. 48 cows, average weight 860 lb., ato^/ a pound.

2. Lot No. 2. 86 oxen, av. wt. 936 lb., at 4i/ a
pound; and 27 cows, av. wt. 920 lb., at 4/ a pound.

3. Lot No. 3. 76 cattle, average weight 960 lb., at
4|/ a pound.

4. Lot No. 4. 65 calves, av. wt. 130 lb., at 5i^ a
pound

,^
and 48 sheep, av. wt. 126 lb., at 6/ a pound.

5. The gold coins of Great Britain are the Sovereign

or about $4.86 of Canadian money. How much of

''"LTr^^'
''"' ^"'^ °°'"^^^^ P«"^d« «f English money

worth ? The sign for pounds is ^.
^

6. One of the silver coins of Great Britain is the
Crown. It IS worth 5 shillings, or one-fourth of a
pound How many shillings in a pound? s, stands
lor shiUmgs.

7. How many shillings are a sovereign and a crown
worth? 3 sovereigns and 12 shillings?

8. How many crown pieces will it take to be worth
a pound? 8 pounds? 6 pounds 5 shillings?

9. How many pounds in 60 shillings ? 85 shillings ?

"

10. How many shillings in ^6 18s. ? in £8 15s.
U. How many gold sovereigns will it take to be

worth 100 shillings?

12. How much in our money is a shillmg worth ?
18. Reduce to Canadian money 6s.; ISs.; £1 10s •

£3 12s.; £8 15s.; £12 6s.; &2 ^s.
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1. Avoirdupois Weight is used for weighing almost
everything except gold and silver. Mention some things
that are sold by the ounce ; by the pound ; by the
hundredweight or cental ; by the ton. From what you
have already learned, fill blanks in the following

:

2. 3. 4.
?oz. = ^lb. 4ilb. = _— oz. 41b. 6oz.=— oz.
?lb. = ^cwt. 6|cwt. = _-lb. 81b. 7oz.=— oz.

?cwt. = |T. 3iT. = -— cwt 3 lb. 14oz.=— oz.
?lb. = f T. 6^T. =--lb. 4 lb. 15oz.=:— oz.

5.
6.

20 oz. =— lb. — oz. 1 cwt. 50 lb. =— lb.
60 oz. =— lb. — oz. 7 cwt. 90 lb. =— lb.
80 oz. =— lb. — oz. 1 T. 6 cwt. =— lb.

150 oz. =— lb. — oz. 6T. 4cwt. =— lb.

7. a
25001b.=— T.

30001b. =— T.

— lb.

— cwt.

1 cwt. J=— oz.

1 cwt. 10 lb. =— oz.
4800 lb. =— T. — lb. 1 T. 6 cwt. =— oz.
6500 lb. =— T. — cwt. 1 T. 18 lb. =— oz.

is 84 lb.? 67 lb.?
9. How much less than 1 cwt.

62 lb.? 62^ lb.? 34 lb. 8 oz.?
10. How much less than 1 T. is 600 lb.? 1800 lb ?

9 cwt.? 634 lb.? 18 cwt. 200 lb.?
U. How many lb. in 18 oz. + 10 oz.? 24 oz. + 16 oz. ?
12. How many lb. and oz. in 86 oz.? 112 oz.? 168 oa ?

78 oz. -J- 86 oz.? 134 oz. -f 264 oz.?
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^
How many centals in 138 lb.? in 154 lb. + 232 lb ?m 3451b. + 627 lb.?

-r^o^io.f

• ^'q.^T ™^"y *^"' ^" ^0 «wt-^ in 15 cwt. + 17 cwt ?in 1840 lb. + 620 lb.? in 730 lb. + 2460 lb.?

Add:

3.

2 lb. 4 oz.

3 lb. 6 oz.

4.

7 lb. 6 oz.

8 lb. 4 oz.

8

2

5. &
lb. 10 oz. 4 lb. 12 oz
lb. 6 oz. 3 1b. 7oz

7. 7 lb. 13 oz. + 2 lb. 8 oz. 8.

9. 7lb.l4oz. + 181b.l3oz. 10.
U. 4cwt.201b.+3cwt.301b.' 12.
13. lcwt.601b.+2cwt.601b. 14.
W. lT.6001b.+3T.2001b. 16.

17. 5T.16001b.+3T. 6001b. la

Subtract

:

19.

4 lb. oz.

1 lb. 6 oz.

61b. 12oz. + 81b. 10 oz.

9 lb. lloz. + 81b. 12 oz.

4cwt.401b.+6cwt.601b.

4cwt.801b.+3cwt.901b.

5 T.8001b.+4T. 12001b.
9T.14001b.+7T. 9001b.

20.

3 lb. 6 oz.

1 lb. 10 oz.

21.

4 lb. 5 oz.

2 lb. 12 oz.

22.

91b. 2oz.

4 lb. 12 oz.

23. From 1 T. take 300 lb.; 8 cwt.; 1400 lb
24. From 2 T. take 1 T. 6 cwt.; 1 T. 400 lb.'

25. 3 T. 4 cwt.- 1 T. 8 cwt. 26. 5 T. 600 lb.- 2 T. 1200 lb
27. 8T. 600 lb.- 3 T. 1400 1b.

2a 8oz.x2=— lb. 29. 8oz><:S- IK

33. 6 cwt.x4= — T. — cwt.
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Multiply

;

1.

2 lb. 4 oz.

3

41b. 3 oz.

4

95

4.

1 lb. 4 oz.

6
5.

7.

9.

11.

13.

15.

17.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

4 oz.

33.

x6.
X 10.

6.

8.

10.

12.

14.

16.

18.

3 lb. 8 oz. X 4.

3 lb. 12 oz. X 3.

4r lb. 13 oz. X 9.

9 lb. 8 oz. X 15.

4 T. 3 cwt. X 8.

8 T. 600 lb. X 4.

4T. 14 cwt. 81b. X 8.

how many lb.?

6 lb. 6 oz. X 4.

4 lb. 9 oz. X 3.

5 lb. 9 oz. X 12.

8 lb. 7 oz. X 14.

3 T. 5 cwt. X 4.

5 T. 600 lb. X 3.

6 T. 5 cwt. 10 lb.

9 T. 11 cwt. 121b

^ of 1 lb. = how many oz.?

:J
of 1 T. = how many cwt.?

18 lb. -^ 4 =— lb. — oz.

27 lb. ^ 6 =_ lb. — oz.

IV^'^^'J^'"'-^^'
^^^^-^«' 9T.-4; 18cwt.-6.23T-10; 32T.-M2; 15T.^12; 87T.-^8.

What part of 1 lb. is 8 oz.? 12 oz ?

What part of 30 oz. is 15 oz.? 5 oz.? 10 oz.?
What part of IT. is 500 lb.? 2501b.? 15001b.?
What part of 1 cental is 25 lb," 751b? 801b?
What will 1 T. of sugar cost a 8 a cwt. ?
What will 1 T. 300 lb. of flour cost at 3 / a pound ?
At 12/ a pound, what will 8 oz. of cheese cost?
12 oz.?

AtJ^.20 a pound, what will 1 lb. 8 oz. of meatcost? 2 lb. 4 oz.? 3 lb.

34. At
12 oz.

1600 lb.? 250 lb.? 760 lb.?

a ton, what will 500 lb. of iron cost?
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Find the cost of:

1. 5 cwt. of butter at 30 < a lb.

2. 1800 lb. of beef at |8 a cwt.
3. 2 T. 800 lb. of hay at $15 a T.
4. 6 lb. 12 oz. of cheese at 8/ a lb.

Fill blanks in

5.

2bu.=— pk.

|. bu. =— qt.

1^ pk. =— pt.

12^pk.=— qt.

a
l^gal. =— pt.

2f gal.=— qt.

4f qt.=— pt.

gal. =— qt.

U.
3 bu. 2 pk. =— pk.

1 bu. 3 pk. =— qt,

6 bu. 6 qt. =— qt.

S pk. 6 qt. =— pt.

the following:

6.

4qt.=—
4qt.=—
36pt.=—
64qt.=—

9)

2.5qt. =—
3.25 gal. =—
.75 gal. =—
4.5 gal. =—

7.

20

46

64

86

14. How many
15. How n»any

16. How many

qt. =
qt. =
pt. =

13.

gal.

gal.

gal.

qt.

pk. 3.5bu. =— qt.

bu. 1.25bu. =— pk.

pk. .75pk. =— pt

bu. 4.5 pk. =— qt.

10.

gi. 100gi. =— qt

qt. 8pt. =— gal.

pt. I pt. =_ qt.

gi. 1| gal. =—^t.

12.

8 gal. 3 qt. = -- qt.

2 gal. 1 qt. =— pt.

8 qt. 1^ pt. =— gi.

7 gal. 4 gi. =— pt.

qt.

qt.

qt.

pt.

pt.

gi-

gal. in 7 qt. + 4 qt.? in 11 qt. + 6 qt.?
bu. ill 6 pk. + 3 pk. ? in 40 qt. + 20 qt. ?

qt. in 16 gi. + 5 gi. + 8 gi. + 1 pt.?
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Add:
1.

3 bu. 1 pk.

2 bu. 2 pk.

5.

6 gal. 3 qt.

4 gal. 5 qt.

9. Add 3

10. Add I
11. Add 3

12. Add I
13. From

Subtract

4 bu. 3 pk.

2 bu. 1 pk.

a. 3. 4.

1 bu. 2 pk. 6 bu. 5 pk. 5 bu. 1 pk. 3 qt.

^ bu. 2 pk. 3 bu. 4 pk. 3 bu. pk. 6 qt.

«• 7. a
8gal. 7qt. 5gal.4qt.lpt. 8qt.lpt.2gi.
3gal.4qt. 4 gal. 6 qt. pt. 6qt.lpt.3gi.

gal. 7 qt. + 4 gal. 1 pt. + 6 qt. 1 pt. + 3 qt. 3 gi.

bu. + 6 qt. + 2 bu. 3^ qt. + 3 bu. 2^ pk. + 8^ qt.

bu. 6 qt. + 3 bu. 2 pk. + 3 pk. 1 pt. + 6 qt. 1 pt.

pk.4-|bu. + ^qt. + |pk. + ^qt. + |pk.
1 bu. take 3 pk. ; take 12 qt. ; take ^ pk.

15. 16. 17.

6bu. Opk. 4bu. Ipk. 6 pk. 3 qt.

3 bu. 1 pk. 1 bu. 3 pk. 2 pk. 6 qt.

M. 19. 20. 21.
6gal.6qt. Sgal.Oqt. 12 gal. 3 qt. 8 gal. 4 qt. pt.

^ g^^- ^ q<^- 4 gal. 1 qt. 6 gal. 6 qt. 3 gal. 5 qt. 1 pt.

22. From 4 gal. 1 pt. take 11^ qt.; take 3 qt. 1 pt.
23. From If bu. take 3 pk. 4 qt.; take 3f pk.
24. From 7^ pk. take 1 bu. 2 pk. 6 qt. 1 pt.

25. From 4^ gal. take 1| gal. ; take 4| qt.

26. 4 qt. X 8 =— gal.

27. 3 qt. 1 pt. X 2 =— qt. — pt.

28. 6 qt. X 10 =— pk. — qt.

29. 18 qt. X 9 =— bu. — pk. — qt.

30. 17 pt. X 12 =— gal. _ qt. -_ pt.
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Multiply:

1.

3 bu. 1 pk.

4

*• «• 4.

5 gal. 3 qt. 5 bu. 1 pt. 3 qt. 4 gi
6 16 24

«• 6- 7. a
5 gal. 1 pt. 6 bu. 6 qt. 4^ bu. 3 pk. ' 6^ gal. 3 qt

^Q 16 12 20

9. i of a bushel =
10. I of a gallon =
U. 23 bu. H- 4 = -
12. 43 gal. -T- 6 = -

— pk. — qt

— qt. — pt.

— bu. — pk.
i- gal. — qt

— pt.

— gi-

— pt.

Divide

:

13.

3)24 gal. 3 qt.

14.

8)18 bu. pk.

15.

8)60 pk. 3 qt.

16, 17. la.
9)25 bu. 6 qt. 12)28 gal. 2 qt. 6)58 qt. 1 pt. 3 gi.

19. How many times are 4 quarts contained in 2
bushels ?

20. To how many persons can I give 2 gal. of milk
if I give 2 qt. to each person?

21. To how many persons can I give 3 bu. of com
if I give to each person 3 pk.?

22. If I divide 6 bu. of com among 8 persons, how
many quarts do I give to each person?

23. What will 8| gal. of milk cost at 6 / a qt. ?
24. What will 6| bu. of beans cost at 8/ a qt.?
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Find the cost of :

1. 360 qt. of molasses at 40/ a gal.
a. 62 pk. of com at $1.00 a bu.
3. 6f bu. of potatoes at 30/ a pk.
4. 2f gal. of vinegar at 18/ a qt.

6. What will 18 bu. 3 pk. com cost at 62^ / a bu. ?
6. From a barrel of vinegar containing 3U gal. there

ToT ^^^Ir^^
°°^ *^™^ ^^ 8*^- *"d ^ another timel^ gal. What IS the remainder worth at 7 / a qt. ?

7. A relief committee received from one person 18 bu

i-!^* 1 Z^^^ '

^'°"' *"'^*^^'' ^^ *»"• 3 pk.
;
from i

third, 22 bu. 5 qt. ; from a fourth, 14 bu. 2 pk This
was divided equally among 12 families. How many
bushels, pecks, and quarts did each family receive ?

c ''
A?*"'^"^ °' "^^^^^ weighing 14 T. 6 cwt. was sold

for $429. Allowing 60 lb. to a bushel, what was the
price per bushel?

9. How many seconds of time in 2| mm. ? in 6| mm ?
10. How many minutes in f h.? in | h.? in 3^ h.?
U. How many hours in | da. ? in | da. ? in 4| da. ?

12. How many days in January? July? September?
August? AprU? November? October? February? March?
May? June? December?
la Tl^«, «.„„„ minutes is your school in session

how many hours weekly ?

daily

14. How many hours and minutes from 10.30 o'clock
A. M. to 2 o'clock P. M. ?

16. How many days from June 1 to June 21 ?

July 1 ? to July 20 ? to September 6 ?

to
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1- A boy goes to bed at 8.30 in the evening, and gets
up at 7 the next morning. How many hours and minutes
18 he m bed ?

a. If a man gives f of a day to work, ^ of a day to
sleep, and spends 2^ hours every day reading, how many
hours and mmutes left for eating and recreation ?

3- How many days in the spring months ? in the sum-
mer months? in the autumn months? in the winter
months? in the entire year?

4. How many months from April 1 to October 1'
from February 1 to August 1 ? from September 10 to
December 10?

6. How many months from July 20, 1893, to January
20, 1894 ? from September 23, 1893, to July 23, 1894 ?

6. How many months and days from September 1,
1893, to December 9, 1893? to January 15, 1894? to
March 23, 1894 ?

^ >

•

7. How many days from July 24 to August 2? to
September 9? to October 18?
a How many months and days from March 20, 1894

1896^^
^^' ^^^^' ^ *^"'^ ^' ^^^^' ^ '^^''"^'^ ^'

9. How many years and months from July 1, 1891 to
September 1, 1896?

'

. 10. How many years and months from September 22,
1892, to May 22, 1894 ?

11. How many years, months, and days from September
22, 1892, to May 31, 1894 ? to July 25 ? to August 6 ?

12. How many years, months, and days from October
18, 1892, to November 10, 1893 ? to April 19, 1896 ?
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1. Find the age at deiUh, in years, months, and days,
of the following celebratcvl persons

:

Born. IHc«l.

William Shakespeare, Apr. 22, 1564. Apr. 23, 1616.
Oliver Wendell Holmes, Aug. 29, 1809. Oct. 7, 1894.
Alfred Lord Tennyson, Aug. 6,1809. Oct. 6,1892.
Robert Bums, Jan. 25,1759. July 21, 1796.
William Wordsworth, Apr. 7,1770. Apr. 23, 1850.

2. Find the difference of time in the following quick
passages from New York to Ql icnstown :

Teutonic, 6 da. 21 h. 3 min.
Alaska, 6 da. 21 h. 22 min.
Umbria, 6 da. 3 h. 4 min.

3. The Teutonic sailed from Queenstown to New Yorkm 1891 in 6 da. 16 h. 31 min. How much less time is
this than her eastward passage ?

4. If there are 2 reams m one bundle, and 5 bundles
make 1 bale, how many reams in a bale? in 6 bales?
in 40 bundles?

5. How many quires in a bundle ? How many quires
in a bale ? in 3 bales ?

6. How many sheets in 10 quires ? in 1 ream ? in 1
bundle? in 1 bale?

Fill blanks in the following :

7.

12|^ bales =— reams.

160 reams = — bales.

20 reams =— quires.

200 quires =— reams.

8.

1| bales =— reams.

4f quires =— sheets.

3.1 reams = — quires.

6| quires =— sheets.
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Fill blanks in the following

.

1. ,^
aA^^^ ^— ^^b. 4.8 bales =— reams400 quires =:- reams. 2 6 bales - T^
640 shfiAfji — « •

"**®* ~— quires,oju sneets -— quires. .026 bales =— sheetsli bales «— Quires lOftA •

sneets.

4800 sheets «— reams.

3. How many reams and quires in

4| bales + 3| bales + 12^ reams?
. How many reams in 10,000 quires ?
5. How many quires in 11,620 sheets ?
6. How many reams in 11,620 sheets ?
7. From a bale of paper there was sold 3 reams.What IS the remainder worth at $2.50 a ream^

.f^rlT \'^^ ""^ ^^^ ^^^'' ^^ ^^'^ ^^^^ was taken

reamer ^ "T' ^^ ^"^«^'*°<^ ** another time 126^ams 16 quir^. How much was the balance worth atfi.^o a ream?
9. What is the difference between 18 score and 16dozen? 16 score and 22 dozen?
10. 12 dozen make a gross. How many dozen in 3*gross ? m 8| gross ?

j i m of

How'
^ ^^^A^^r^" °^ P^"' ^* *^" ^*« of i/ apiece.How much did they cost?

contain
of pens, if I put 3 dozen in a box?

13. I bought at one time 8 gross 6 dozen penci
at another time 150 dozen. How much areVhey
at 2^/ apiece? ^

gross

pencils, and

worth

^.
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SECTION VIII.

lOaeallaMoas Oral and WUttan

1. John bought 8J lb. of fish at 10/ a pound, and
gave a dollar bill. What change did he receive?

2. At another time he bought ^ bu. of potatoes at 90 /
a bushel, and a peck of turnips for 25/. He gave a
two-dollar bill. What change did he receive?

A country merchant sold the following articles. What
change in each case did he give ?

3. 4^ lb. lard @ 10/ ; 6 lb. sugar @ 7/. Rec'd |1.

I
4. 2 bu. oat« @ 45/ ; 2 lb. starch @ 10 /. Rec'd |2.
5. 4 bu. com @ 82 /; 1 lb. tea @ 65 /. Rec'd |5.
6. 6 lb. soap @ 9/; 2 quires paper @ 15/. Rec'd $2.
7. i lb. coffee @ 36/; 4 lb. 4 oz. butter @ 40/

Rec'd |5.
^

•

8. 12 lb. 12 oz. beef @ 16/; cloth, $1.60. Rec'd $4.
9. 18i yd. cotton cloth @ 8/; peaches, 40/. Rec'd $10.

10. Write in a column and add: $8.75, $65.06, $409.63.
$758.28, $3.82, $69, $3.89, $.84, $7S6.90, $34.86,
$56.83, $7.06, $5.69, $1096.15.

11. Write in a column and add : $38.75, $6.07,
$8094.16, $238.74, $74.83, $489.62, $.82, $780,
$54.86, $3.90, $42.86, $95.08, $16.98, $438.

12. Bought 864 barrels of flour at $5.75 a barrel, and
paid $2684.15 towards it How much more to pay?
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4.

3

5

Add by columns and by lines :

^ 2. 3.

n. 4 5 8
12. 8 3 3
13. 6 7 9
14. 9 4 6
15. 3 5 2
16. 5 6 8
17. 6 9 7
18. 9 7 5
19. 4 1 3
20. 2 3 6
21. 7 8 4
22. 6 6 7
23. 5

24._8

25.

33. 28

34. 94

35. 48

36. 89

37. 73

38. 27

39. 62

40. 36

41. 59

42. 95

43. 86

5

9

8

9

2

9

6

8

3

7

1

7

4

5

5.

4

7

9

3

8

8

2

7

6

i

5

6

9

3

26.

43

59

96

27

82

48

73

15

61

34

59

27.

75

45

93

56

84

37

72

28

66

19

94

28.

68

56

92

67

14

75

23

48

84

39

85

6.

9

3

5

8

4

8

7

1

5

6

4

7

6

39.

72

97

64

39

85

43

28

76

15

52

68

7.

4

5

3

6

6

7

2

3

8

7

4

1

8

_9

30.

39

58

35

97

43

11

66

82

29

74

29

8.

4

4

9

3

5

7

8

1

5

2

7

9

6

_8

31.

16

87

18

75
32'

63

29

56

44

91

38

9. la
6 4
4

7

1

8

2

9

7

5

6

3

4

5

3

5

9

8

7

3

6

1

5

9

6

8

4

7

32.

67

64

18

73

25

88

36

47

97

59

46
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1. Bought 540 acres of land at $25 an acre, and paid
for It m flour at $7.60 a barrel. How many barrels did
I give?

2. If the government were to pay off the national debt
durmg a smgle year, how much must be paid a day on
an average ? The debt in 1891 was $1,610,620,103

3. A man deposited in the bank $1840, and drew out
by check the following amounts: $26 48 *1S4 18
$227.09 16.94. t34.96,%87.45, $50.* ut^r^Td
left m the bank?

4. A merchant deposits in the bank April 1, $618 20
and on April 20 he deposits $217.40 more. He takes

A rimf
°"' *^'' ^^^^'^^' ^^^* '^"^^^^ ^" ^^^'^

5. On the first of January I had in the bank $346.20.
<>n the 15th of January I put in $127.42. On the 31st
ot January I had in the bank $217.44. How much had
1 drawn out during the month ?

Ai«n .^^ ^f•"^^^^ *he following deposits were made :

$160.17, $230, $620.40, $46.30, $369.15, and during

$4.68, $1, $5, $20, $2.75, $4, $24.60, $1484.78. How
did the account stand at the end of the month ?

7. In 2^ lb. how many ounces ? in 3| lb. ?
8. How many yards in 8^ rd.?
9. How many feet are there in 4^ rd. ?
10. What will 8^ gal. oil cost at 12|-/ a gallon 7
11. What will 3^ pk. of peanuts cost at 6*/ a quart?
12. In f of a rod how many feet?
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1- How many half-pint tumblerfuls of milk in a
gallon ?

of ^cl^h?^^*
* ^^"^^ ^""^ "'"''^ ^*'*" ^ ^^^ ^°'' ^^ y^-

3. I have from the milkman three pints of milk
daily. At 6/ a quart, what will be my milk bUl for
the month of May? What will it be for the three
wmter months?

4. What is a b_ el of potatoes worth at the rate
of 5/ a quart?

5. I can buy half a peck of apples for 16 <. At
«iat rate, what should I pay for 3 bu.?

6. From a barrel of oil containing 36 gal., 15 gal
were used. What is the remainder worth at 18/ a
gallon ?

7. A man bought 72 gal. of molasses at 42)^ a
gallon. He sold ^ of it at 48/ a gallon, i of it at
40/ a gallon, and the rest at 43/ a gallon. Did he
make or lose, and how much?

8. If it takes 4.6 yd. to make an overcoat, how many
overcoats can be made from 675 yd.?

9. I bought 6.8 tons of coal @ $6.60 a ton, and paid
for It m apples at 60 / a bushel. How many bushels of
apples did I give?

10. I give 132 doz. eggs, worth 26 / a dozen, in part
payment for 64 cords of wood at $4.60 a cord. How
much remains to be paid?
U. If it takes 18^ yards of silk to make a dress, how

many yards will it take to make 4 dresses ? What will
cloth enough to make 2 dresses cost at $1.86 a yard ?
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1. A man can do a piece of work in 8 days, working
9 hours a day. How many days will it take him if he
works 12 hours a day?

2. 6 men can build a wall in just 2 weeks. How
many days will it take them if 2 men are added to
their number?

3. If 20 men can make a road in 180 days, how many
days would it take 60 men ? 180 men? 10 men?

4. If 2i lb. of butter costs 60/, what will 8| lb. cost?
5. What will 3.4 T. of coal cost at 35 / per cwt ?

6. If I pay $5 for 2.5 yd. of cloth, what must I
pay for .75 yd. of the same kind?

7. f of my farm is worth $2400. What is I of the
rest of it worth?

8. A tailor makes a suit of clothes for $30. If the
cloth for the suit costs $18, what is allowed for labor?

9. A man contrp?ts to build a sewer for $2.10 a foot
The sewer pipe costs $1.25 a foot. What does he allow
for labor and profit on 1 rd. ? on 1 mi. ?

10. If there are 150 pound packages of tacks in a box,
what will be the freight on 12 boxes at 18;^percwt.?
What will the tacks sell for at 7^/ a pound?
U. If a man smokes 4 cigars a day, and they cost at

the rate of 3 for a quarter of a dollar, what will his
cigars for January cost ? What for the entire year ?

12. Frank earns $4.80 in a week. How much can he
earn m 3 weeks and 3 days ? How many days will it
take him to earn $16.80?

13. How many pa^es each 2 ft. long will it take to
walk 40 rods?



108 GRADED ARITHMETIC.

i.'

1. Mr Brown s salary is $160 a month. How many
years will it take him to earn $6000 ? If he saves 1
of his salary, how long will it take him to save enough
to buy a house worth $2500, and furniture worth $800?

a. How many paces each 2^ ft. in length will one
have to make to walk a mile?

3. The circumference of a wheel is 12 ft. How many
times must it revolve in going 100 ft. ? 1000 ft. ? i of
a mile ?

*

4. A tub of butter weighing 36 lb. 4 c lasted a family
from May 14 to August 3. How many ounces a day on
the average did they use ? ,

5. A newsboy bought 3 doz. papers every day, paymgIK apiece for them. He sold them at 2 / apiece. How
much did he make between June 1 and September 20 ?

6. A man earns $1.75 every week-day, and his expenses
are ^8.50 a week. How many weeks will it take him to
save $50 ?

7. If the 1st day of May is Thursday, what day of the
week is the following 4th of July ?

8. What is the difference between 6 dozen dozen and
half a dozen dozen?

9. A workman receives $9.12 for 4| days' work, work-
ing 8 hours a day. How much an hour did he receive ?

10. If I own half interest in a store and sell | of my
share for $840, what is the entire store worth ?
U. How many years since the discovery of America ?
12. How many years and months since the con-

federation of the four provinces ?

18. What is vour age in years, months, and days ?
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i. How many years and months since the birth of
Queen Victoria ?

2. How many times has the sun risen since the first
flay of last July ?

3. A man worked from the 1st of May to the Ist
of October, inclusive, at $2.25 for every week-day.
There were in that time 21 Sundays. How much did
he earn?

4. A tub of butter weighed 40 lb. 12 oz., the tub alone
weighing 4 lb. 3 oz. What was the butter worth at
32/ a pound?

5. The area of Lake Superior is 31,400 sq. mi. j of
Lake Michigan, 25,600 sq. mi. ; of Lake Huron, 23,800
sq. mi.; of Lake Erie, 1000 sq. mi.; and of Lake Ontario,
7300 sq. mi. How does the combined area of all the
great lakes compare with the area of the Caspian Sea,
which has an area of 132,000 sq. mi.?

6. The height of Mt. St. Elias is 17,900 ft. ; of Pike's
Peak, 14,147; of Mt. Washmgton, 6293 ft. How
much higher is Mt. St. Elias than Pike's Peak?

7. I buy pass books at $5.04 a gross, and sell them
at 5/ apiece. What is the profit on 100 books?

8. How many rods long is a freight train of 36 cars,
allowing 33 ft. for each car and a space of 2 ft. between
the cars?

9. I pay for the yearly rent of a house .08 of its
value. If the house is valued at $4500, what is the rent?

10. A horse trotted a distance

How
f 18 miles in 2^ hours,

many miles an hour did he trot ? How long did
it take him to go a mile?
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tv, i^ann^'^fx
^''^ ^^""^ '^''^^ ^^^^ ^^^ another

worth ^bbOO. He receives as yearly rent of the first
house .12 of Its value, and of the second house .09 of its
value. How much does he receive a month for both
houses ?

2. A train of cars started at 8.30 o'clock in the raom-

PV J.'"''^^
^* ^ P^'"* ^^^ ^"i^^« ^^*y at 4 o'clock

±'. M. What was the average rate per hour ? At the
same rate, how long would it take the train to go fromNew York to Boston, a distance of 230 miles ?

3. Pens which were bought for 80/^ a gross were sold
at the rate of 6 for 5 cents. What was the profit on
6 gross? «

4. The valuation of a certain town is $2,114 000 It
raised for schools one year .04 of its valuation. What
was the amount raised for schools ?

6. In a test of seed grain 95 seeds in a hundred
germinated. What number of seeds in a vessel con-
taining 4,760 grains will not germinate ?

6. A field is half a mile long and one-quarter of a
mile wide. Find how many stocks of grain in it at 36
to the acre.

7. How many square feet of boards will it take to
build a tight-board fence 6 ft. high around a rect-
angular lot of land 12 rd. long, 100 ft. wide ?

8. How many pickets 3 in. wide, placed 3 in. apart
would It take to make the fence given in the last
problem ?

9- How many square yards m a pavement 200 ft
long and 6 ft. wide?
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1- How many square feet of cloth will it take to cover
the top of a desk 4 ft. 6 in. long and 3 ft. wide ?

2. At 8^ / a square foot, what will 10,000 square feet
of land cost?

3. A piece of land in the form of a rectangle is 180
ft. long and 120 ft. wide. What is it worth at 15A^ a
square foot ?

4. How many yards of fence will it take to inclose
the above lot?

5. A boy counted the steps he took in walking
around the Common, and found that he had taken 2868
steps. If his steps were 2 ft. long, how much more
than a mile did he walk?

6. If that was the exact distance around the Common,
how much would it cost to inclose it with a fence at the
rate of 30/ a yard?

7. A man walked ^ of a mile and back in 12 minutes.
How long would it take him to walk a mile ? 6f mi. ?

8. The cotton crop of 1891 in the United States
consisted of 8,655,518 bales. The average net weight
per bale is 440 lb. How many tons were raised?

9. How many telegraph poles placed 60 yd. apart
wiU be needed for wires to extend from Winnipeg to
Brandon, a distance of 133 miles ?

10. If the silk that comes from one cocoon weighs
3^ grains, how many cocoons will it take to make
five pounds of silk, no allowance for loss? Allowing
that the length of the thread of a cocoon is 1800 ft.,

how many miles of thread will it take to make this
quantity of silk? (1 pound= 7000 grains.)
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TABLES.

i

of LMgth.

12 inches (in.) = 1 foot (ft)

3 feet = 1 yard (yd.)

6i yards = lrod(rd.)

320 rods = 1 mile (mi.)

MeasuTM of 8iitfao»

144 square inches ( = 1 square

(sq. in.) (foot (sq.ft.)

9 square feet
j==^'1""«y"d
i (sq. yd.)

4 gills (gi.) = 1 pint (pt.)

2 pints = 1 quart (qt.)

4 quarts = 1 gaUon (gal.)

Dry Mmuruv.

2 pints (pt.) = 1 quart (qt.)

8 quarts = 1 peck (pk.)

4 pecks = 1 bushel (bu.)

I

Avolrdnpoia Weight

16 ounces (oz.) = 1 pound (lb.)

2000 lb. or>

608econda(8ec.)= 1 minute(min.)

Blhour(h.)

= 1 day (da.)

= 1 week (wk.)

= 1 year (yr.)

= lyear.

1 dollar ($X

Motwy:

60 minutes

24 hours

7 days :

o2 weeks 1 day =

12 months (mo.)=

r.«nadwn

100 cents (c.) =

Vnitad

10 mills (m.)

10 cents

10 dimes

= 1 cent (/)

=1 dime (d.)

=sl dollar (f

)

^mOahMoaay.

20 shillings (».)= ! pound (£)

BCiaoeUaneow Table.

12 units

12 dozen

20 units

24 sheets

20 quires

10 reams

1 dozen (doz.)

1 gross (gr.)

1 score.

1 quire.

1 ream.

1 bala
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